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(Read the Following instructions carefully before, Answering)
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1. Separate Optical Mark Reader (OMR) Answer Sheet is supplied to the candidate along with Question Paper
Booklet. Please read and follow the instructions on the OMR Answer Sheet for marking the correct response.
wgighof RIHEo EBEE rtn wPES S 668 (ows) saren Hi¥o wodowkadd. wagteo
BTV QL) S0 LDoes earen oaLéo 2 &) SrSSen g H83008SB.

2. The Candidate should ensure that the Hall Ticket Number and Name of the Candidate are properly
printed on the OMR Answer Sheet provided to you. The Candidates are further instructed to ensure
that the booklet code printed on OMR Answer Sheet is same as the Question Paper Booklet
code supplied to you.

g0 L2088 2TrWIG0P BEron0dS PHRI0S” FSHIG Sowb 8 W I8 RolS wondw B
©Q JHOLrFIBT. @gisd S35 a0 bdowd adm Jgo N SN@ONS wESE T, ad)d PFHo
QD& INBoNS WEBE FE 08B wonds B8 HoSrRTISBL.

3. This booklet contains 200 Questions and candidates shall answer all of them in 180 minutes.

& TG0 208BES” 200 B wamaw DO WLigher DLR0EBS 180 IDTOS" arened FOoWSTLL.
4. One mark will be awarded for every correct answer “for post code 11 and half mark for post code 13.
There are no negative marks.

B0 9O 2arandy FY FE 11 £ wf Srdy, P 56 13 £ o8 $rdy, Séronotido athrfEod. J&Sod
oerd)§ Srdy 0 TY.

5. Immediately on opening the Question Paper Booklet by tearing off the paper seal, please check
for (i) The same booklet code (A/B/C/D) on each page, (ii) Serial Number of the questions (1-200),
(iif) The number of pages and (iv) Correct Printing. In case of any defect, please report to the invigilator
and ask for replacement of booklet with same code within five minutes from the commencement of the test.
WETO PT)BG0 WETE S IGHVY Jows eFiRHer Swpsor (i) $H%H Terowodd wEBE F&E
DIDID 18 P8 HDED aHE TE $0800%HFITX, (ii) 1 Hod 200 $8% HHew S8 EoS &5
BAD H0BO0HESTL, (i) Do Dowg $0dkw (IV) I 0. DI 0T DXETrOS® IBT SHye0 FOS
e eEfgthen $5 HEGIFER S8 ELERY HOF [0S 5 220 oS® (& EEREIERNY ;55»63 §38%%.

6. Answerstothe questions must be entered only on OMR Answer Sheet by completely shading the appropriate
circle with Ball Point Pen (Blue or Black) only.
00 T I WETPaN0ET N E £,00e8 arenHB0 P JrO KB B)T2R) Y 232080 YrBOWHB.
7. The OMR Answer Sheet will be invalidated if the circle is shaded using Pencil or if more than one circle is
shaded against each question even with a small dot.

8008 3Tra0 HB0P HF0S® DYPSE’ HET BT w8 HPI0S® ET7) JEYS HTes® AW HE) DES
B HET 9 Hr0gosT A8 HoHEB0BED).

8. Change of answer is NOT Allowed.
B3T2080 &3 HORHOS B 58081 RSB0 Ed.

[8) Q
» The Candidates must fully satisfy themselves about the accuracy of the answer before darkening the
appropriate circle of (1), (2), (3) or (4) in the OMR Answer Sheet with Blue/Black Ball Point Pen, as
it is not possible to change or erase once darkened.
2,80 £000e0 23320 NB0 P FrBoNS 225372080 WEHE0 BB 5°20E 3 wgigdoen Foggore SIRAICTAEFV AV

De0 Bar Send rEFonols 2808 (1), (2), (3) B (4) 25&@"0&3‘ w8 5)E) o)ééaa)éa{() FPOoHIBK0.
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Booklet Code B

» Use of Eraser or White Fluid on the OMR Answer Sheet is not permitted as the OMR Answer Sheet
is machine gradable and it may lead to wrong evaluation.
S0rerg08S0 afo@o egrdorr VoSN SO L0 2arwn JBoP I FLows M, S M
TEEE 980508 SKo.

9. The OMR Answer Sheet will not be valued if the candidate:
g8 Ldowb 2w Do & BiHD DEYHD VIS Dode aarmdigo Durargosdo Bobadd:

(a) "Writes the Hall Ticket Number on any part of the OMR Answer Sheet except in the space provided
for the purpose,
80086 20 HBoR JrRoD HAF0S® 578 FSLBE J0wbd Fd HRFoS® &) & TSI,
(b) Writes any irrelevant matter including religious symbols, words, prayers or any communicatién what
so ever in any part of the OMR Answer Sheet,
8,088 23720 VG0 HEDIFD "53‘9’7210), dTren, e, @"gf‘ée» S0 RS ©V020EFS D30
TRSIBHL0, ‘
(© Adopfe S any other malpractice.
AENH0E BRQYNBGRE0 rONBHD.

10. Electronic gadgets like Cell Phone, Pager, Calculator, Electronic watches and Mathematical/Log Tables
are not permitted into the examination hall.

D8 HPe0e®8 DE050e3 QOEFRE HOET TS S VEFS, wab, 5°085BLE, QOFE FDen, Ke3s/eh
en8en WHB0W0EY).

11. Rough work should be done only in the space provided in the Question Paper Booklet.

DTG0 e0EBES® BeronoDd HBFS® SR 8 $6), DS IS

12. Once the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall till the end
of the examination.
g0 w80 KO FPens s ©I300S So7gd HOF HHa%0 $AT FEE LB HoHedd.

13. Ensure that the Invigilator puts his/her signature in the space provided on Question Paper Booklet and the
OMR Answer Sheet. Candidate should sign in the space provided on the OMR Answer Sheet.

58 S5 BTDG0 WEBEP Tran0dS BBIS” HEFBEHI Do), Hod¥o SFIITH. werd LJows
2T G0D vY Beranods PBFoeS® S JodEo BoIBL.

14. The candidate should write the Question Paper Booklet code and its serial number and sign in the space
provided in the Nominal Rolls.

TNIS TP IFBoAS BBF0S” @fgd BIHo WEBE 6 50050 T E0 Jopgdd SHRBOM
GRS 358080 JZ300& HAFoes* HogEo BASBB.

15. Return the OMR Answer Sheet to the invigilator before leaving the Examination Hall. Failure to return the

OMR Answer Sheet is liable for criminal action and the result will be kept withheld. The Question Paper
Booklet shall be taken away by the candidate and should be preserved till the declaration of results.
HOF° 0 0D 200K IPSYW LD0eE BT eDE Q) HEFIFEINE BoSBODIB. LIoes BTG
WOBBONIS eaa;i?g&';) 8% WEge0 BHES580 22SK083008 08050 WS PO eS80t
(DS Q). %92556 & ETHS505 S Jod @m&Beﬁézﬁ%m S08050 DO B0 50&03 588 BaHEo
20550 S ASCS PHEST FSHES 5B L.

NOTE: If any ambiguity arises in translations in any question, then the text/matter stated in English
version shall be treated as final, since the Question Paper Booklet is printed in two languages
viz. English / Telugu or English / Urdu.

BT ) VTS’ eNHRS w08, QARG WS BE/DACH0 HEFRSBT TA0BIBL.
D0B0E0 @TDG0 08¢ Bok grhes® (R0H2/Be0iH S 20A%/ & EF) S0BoBESE.

This booklet consists of 48 Pages including Cover Page and Pages of Rough Work.
& @PT)H B0 wEBE EI% R 200w 85 36, wRe& §OL 48 wdw O wH)b.
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R-5 Booklet Code | BB

Time : 3 Hours Marks : 200/100
Instructions :

(i)

(i)

One mark will be awarded for every correct answer for post code 11 and half mark for
post code 13. There are no negative marks.

808 ©8 et FH FE 11 K a8 Srdy, P F6 13 L o8 Srdy, Seronosdo
2855808, JwSod Herd)E Srdn o BI.

Choose the correct or most appropriate answer from the given options to the following
questions and darken, with Blue/Black Ball Point Pen the corresponding digit (1), (2), (3)
or (4) in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately provided to you.

BIHS Y B8 BHH 2IES TBS® BODS BErTEING YT I Do
©03 (1), (2), (3) Bz (4) 3om aYPS OMR 35rers JHES0S® PHK Ho0HONS
dopgiie $)Em) w0 BT Se0d) S ool D) BHRTA0D JoHIBH.

1f91° + 6 is divided by 8, then the remainder obtained is
9%+ 6 2 83 ernosHyG S Fasw
(1) 7 (2) 5 (3) 4 4) 3

X, Y, Z are consecutive positive integers such that x <y <z. If the digit in the units place of
x2 is 6 and the digit in the units place of y is 9, then the digit in the units place of z2 is

X, Y,Z @ X<y< Z@cﬁog&@gw ) SKD S Yrgrosren. Xzo?mézj 2088 FIS0S'A ©o8
6 52005 Y2 Gk, w8l FBE0ED ©oT 9 wand, ©hyd: 72 Bk, adly THHED
©08 | |

1) 1 2) 2 (3) 4 (4) 5

The number of zeros occurring at the end of the resulting number of the product
12x18 x15x40 x 25 x 16 x 55 x 105 is

12 x18 x 15 x40 x 25 x 16 x 55 x 105 e)acg:éw o°goe 09O Sopg R DH58S* D02IDoR
éoa';le) éogpg

(1) 5 (2) 6 (3) 4 (4) 8

A 21 digit number N is obtained by writing the consecutive natural numbers side by side
starting from 1. If that number N is divided by 11, then the remainder obtained is

1 %008 Ko 3D S Sopgodo wEmQ DS H&ETAD 21 vosen Ko Sopg N
:Ddo)&béoam oardd. & dopg N & 11 B eraowm STy 3o
(1) 7 (2) 6 3) 5 (4) 3

LT 38



R-5 Booklet Code | BB

5. The nearest integer to the mean proportional of 40,000 and 90,000 which when divided by
each of 8, 15 and 21 leaves the remainder 1 is
8, 15 %500 2le &' KO8T erhodSHYe 10 xS adx:, 40,000 5805w
90,000 SRoo®), eoars Soggso (Mean proportional) S5 «8 $Kss® &od Yraogo
(1) 58,801 (2) 59,241 (3) 59,641 (4) 60,481

6. If the sum of a pair of numbers is 528 and their HCF is 33, then the number of all such
possible pair of numbers is
w8 ad dopgo I0dS0 528 Hdddw ¢ H.r.er. 33 wowsd, bod&)g werold o)
éongo R8O K)ogpg
1) 8 (2) 7 (3) 6 (4) 4

7. The HCF of two numbers is 21 and their LCM is 4641. If one of those two numbers lies
between 200 and 300, then the difference of those two numbers is
Bocddh dopge BwE), K. 21 508050 o783 .05, 4641, e Bodkd éogpge)ef 2,883
200 S08050 300 © Hocsg (5ckoso) &08, @HY & Tock dopge Sy Eafete)
(1) 84 (2) 105 (3) 126 (4) 147

8.  The LCM of two numbers is 20 times their HCF and the sum of their LCM and HCF is
2520. If the first number is 480, then the ratio of the first and second numbers is
Bocddh dopge LA & K80 20 Bl J080%n T E.r.H. HoBaSw H.Ar.er.o
Sogo 2520. ¢3S F0¢5e3 Homg 480 0208, Joosel SoBaSw Todd Bopge Mg NG
(1) 3:4 (2) 4:5 (3) 5:6 (4) 3:5

9. XY, zarethree positive integers. If LCM ofx,y, zis45; HCFofx,y,zis3; LCMof X,y is
9; LCMofy,zis15; LCMofz, xis45,thenz=
X, Y, Zoo S SIgrqrosen. X, Y, Zo 8. 45; X, Y, Zo K. 3 X, Yo .5 9;
Y,Zo 8.5 15; 2, X © 8.3°.% 45 ©o0s, @AYk Z =
(1) 30 (2) 12 (3) 15 (4) 25

10. The least perfect square number that is divisible by each of the numbers 16, 20, 24, 32 is
16, 20, 24, 32 SopgeeS* DOTIBES eeHoDe0T EAR HOPYSY Sowpg
(1) 14400 (2) 13600 (3) 12460 (4) 12100

11. The least number when divided by each of the numbers 5, 6, 8, 9 and 15 leaves the remainder

one and is also divisible by 13 is
5,6,8,9%08050 150¢® (H8 éogpgz'f)é 2BODIDYE :55‘) RS0 1l oHsr 133 c‘()%goﬁom(‘éo

EaptaYeyeratal 825 dowg
(1) 3861 (2) 3341 (3) 2301 (4) 3601

NIRRT .8



12.
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If the sum of two positive integers each greater than 37 is 296 and if their H.C.F. is 37, then
their difference is

37 08 DED @0'335 Bodd &8 yroosre g 296 $o0osn o8 K.ar.er. 37 oS,
ity o Soggie HeEsw
(1) 37 2) 47 (3) 74 (4) 111

13.

At each corner of a triangular field of sides 26 m, 28 m and 30 m if a Cow is tethered by
arope of length 7 m, then the area (in sq. meters) lying in the triangular region ungrazed
by the cows is

26 0., 28 0. H08csn 30 . ghasneor Ko BLHErsdod® &l af o BnE) @
8650 58 T Doy FEY o @S o a9 §85HyE sHen 2o0TIE Doo 59
e |BeHeSNSA |Fodo 3T0g0 (5.20.065?)

(1) 336 (2) 259 (3) 154 4) 77

14.

The lengths of the two parallel sides of a trapezium are 28 cm and 40 cm. If the length of
each of its other two sides is 12 cm, then the area (in sg. cms) of that trapezium is

28 ddowow z;ﬁeéodo?bzso RBoog), Dol JdXr0SE ghewre FdHeo 28 Do.a. $o8osn
40 200.a0. T WNOS Dok gheren &858 8 12 0.0, FED od, H9E & ddewow
zﬁéodoebao Rg), ITF0 (5. 20.20.06%)

(1) 3125 (2) 4083 (3) 20443 (4) 50443

15.

Water is pumped out of a tank through a circular pipe whose internal diameter is 7 cm and
the speed of the flow of water is 12 cm per second. If the rate of flow (cu.cm/sec) of any
fluid through a pipe is the product of the speed of fluid (cm/sec) and the area of cross
section (sg.cm) of that pipe, then the amount of water (in litres) pumped out in one hour is
(1000 cu.cm =1 litre)

7 0.0, ©wod8 agdo KOAS e¥ FYZTE DY TGO 28 BHOHSD B 20508
SRS $0050 & A PITIro BKB0 ELK 12 0.0, a8 R HoTAFEH B
B50 RBoE), DT B0 (H08.200.00./080¢), €5 558500 KK (0.00./080kd) So8as0
©® R Do), 263(‘,5555){)65 ST g0 (Sipo..) © 0250 oS, SRR Kotrest
20030880 HoIKOR &3 HBSTea [0 (@éogeS‘) (1000 Ho8120.d0 =1 derH)

(1) 1663.2 (2) 1500 (3) 1747.6 (4) 2000

16.

If a solid cone of height 15 cm and base diameter 30 cm is carved out of a wooden sphere
of radius 15 cm, then the percentage of wood that is wasted, is

15 o.. Frgrgo 89AS BE) (?oﬁog) F¥o $0d 15 20.00. A8y 308050 30 o.o.©
g g0 Ko aE P Fogo)do 5@2;8, @O} [T wons B, TS0
(1) 75% (2) 50% (3) 40% (4) 60%

L 58
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22000 3

If the sum of the radii of two spheres is 10 cm and the sum of their volumes is cm®,

then the ratio of the surface areas of the two spheres is

22000
21+

Bodo Ao agrge 30go 10 0.0, $0ck0 e HSH0Srere Inngo

0.00. o0, WHPK @ ok Ao Gddde ITerge I
(1) 3:2 (2) 1:1 3) 2:1 (4) 3:4

18.

If the volumes of a sphere and a hemi-sphere are equal, then the ratio of their radii is
08 Y0 Ho0w 28 @difdoo S HdSreow dSrSo ©00S, @IV T8 T T

QG

(1) 1:2 (2) 1:8 (3) 1:42 4) 1:32

19.

The base of a pyramid is a regular hexagon of side 2a cm. If every slant edge of this pyramid

S5a
is of length > cms, then the volume (in cubic cms) of this pyramid is

w8 DEE By, & 2a 200.20. ghadnm Ko . (E Zﬁcéoeba. & DEDE By, 8
. S5a
AT WO TP > 200.20. W00, & DEE Goo¥), H¥ HOXrE0 (H5 0..0S%)

(1) 3ad (2) 32a° (3) 3/3a° (4) 6as

20.

If three small solid spheres having diameters in the ratio 3:4:5 are casted by melting a
metallic solid sphere of diameter 12 cm, then the radius (in cm) of the smallest sphere is

12 o.d. Frgd0 EOAS oI S} ﬁ“@“’&)& 86000, 3:4:5 K)KJD)@eS“S FgdSINOl OAS
Sy DX) HoSHeeor DS, WHYE EAR A¥o Rwg), argrdo (0.20.0e?)
(1) 3 (2) 6 (3) 15 (4) 4

21.

If the radius of the base of a cone is 7 cm and its curved surface area is 550 sg.cm, then the
volume (in cm?3) of that cone is

w8 Jognd) RwE I J"g@"go 7 20.20. 08380 T SES 3T0g0 550 5. 200.90.
wond, ¥ Jop) B S HoIr@o (Hod Do.ab.0S®)

(1) 1024 (2) 1232 (3) 1132 (4) 1324

T -8
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A person sells milk at Rs. 25 per litre. By adding some water to that milk and then selling at
Rs. 20 per litre, if he gets a profit equal to 25% on initial selling price, then the ratio of the
water to the milk in that mixture is

o8 558 OL Fodd 25 ErIod wlnerd. uFel Fod AH BBS SHTE dLdH
20 Srne TS @l0o mgor S (ol (&) ©508Y S8R 25% %o 35S0 @c’&)g
e Q) oS08, @dYE & JFdoos® Q& B080%0 Fre DG

(1) 13:16 (2) 19:22 (3) 9:16 (4) 125

23.

The ratio of acid and water in 40 liters of mixture is 5:3. If 8 liters of the mixture is
removed and replaced with water, then the ratio of the acid and water in the resultant
mixture is

40 &&g F00sS” airdE $o0a%0 A AL 5:3. & o Kod 8 dwdh Sonod),
T FIQ) VEE 018, AP & HOE WEFH0S® IrdE Sodckn B ARG
(1) 1:3 (2) 1:1 3) 1:2 4) 2:1

24.

A person purchased 20 kg of sugar at Rs. 15 per kg and 30 kg of sugar at Rs. 13 per kg and

mixed them. Then in order to earn a profit of 33%% on the cost price of the mixture, the

selling price (in Rs.) of the mixture per kg should be

28 558 BP0 6r. 15 Ty 20 Bdo HosmE S0b0w0 SRS &r. 13 TEYS
30 8&° (rdve HodTEH §I TEI EFEo Brd. & MEFHE0 BnE SHIe W

33%% ergfo PoTe0B, & MFSrQ) ©8HFORS $8 850 8.8 088 (Sr.oe)

(1) 20.00 (2) 17.40 (3) 28.00 (4) 18.40

25.

Two varieties of rice worth Rs. 126 per kilogram and Rs. 135 per kilogram are mixed with
a third variety of rice in the ratio 1:1:2 respectively. If the mixture is worth Rs. 153 per kg,
then the price (in Rs.) of the third variety of rice per kilogram is

857(rso . 126 508080 85 (s Soe. 135 58 8OAS Bochy E880e HOSg00sd $5a3°¢8S
880 Dadgos’ 50 1:1:2 IQBS® EOF. & oo Jend 857w &r. 153 wowd,
3rES 80 Hodgo Io (Br.S°) 8S° 0 2.8 0838

(1) 180 (2) 170 (3) 169.50 (4) 175.50

| "8
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Two vessels Aand B contain milk and water mixed in the ratio 5:2 and 7:6 respectively. The
ratio of the quantities in which the mixtures in vessels Aand B are to be mixed into vessel
C to obtain a new mixture with milk and water in the ratio 8:5 is

Tody rBed A 50050 B oo S35 5:2 S0dasn 7:6 i8S dren So8akn A
MEFSTQ) EOA rI)ow. e o0 A 8:58S® oBwinm @ C S8 o8 Y

WEFSrQ) orad)E 8, A 08350 B F@od’d DESre H88rarol odd0dd I8
(1) 4:3 (2) 13:9 (3) 5:6 4) 7:9

27.

The ratio of money available with P and Q is 4:5 and the ratio of money available with Q and
R is 5:6. If P has Rs. 280, then the amount of money (in Rs.) R has

P %0050 Q o 3¢ &l &0y 4:5 AQBS™Er, Q S8 R o 3¢ &) rdaoy 5:6
AYBS S o, PS¢ &, 280 <08, R SG €S sy (E>r.0e5%)
(1) 420 (2) 320 (3) 640 (4) 460

28.

The ratio of the present ages of Prasad and Kiran is 7:5. If the ratio of their ages after
6 years is 4:3, then the present age (in years) of Kiran is

QPO 008w 88de BwE), RRE H0DJYO QG 7:5. ¥ JoI&ore SHFE 570
S0y G 4:3 ®ond, HIEo 885 Roog), Ha%dy) (Hosd)Etnes®)
(1) 30 (2) 32 (3) 34 (4) 42

29.

The ratio of earnings of P and Q is 4:5. If the earnings of P is increased by 20% and the
earnings of Q is decreased by 20%, the new ratio of their earnings becomes 6:5. If Q’s
earnings is Rs. 1,500 after reduction, then the earnings (in Rs.) of P initially was

P %8050 Q © B, doardde G 4:5. Pdoardd 20% 284 508050 Q doards 20%
08, 70 F'8 Sordsde NG 6:50YH0s. SAS Sard QHordS &, 1,500 @ond,
rSoefoes® P B0, DO (8. e5%)

(1) 1,500 (2) 2,000 (3) 2,500 (4) 2,250

30.

Two friends P and Q had savings in the ratio 4:5. P and Q decided to buy a gift for their
sister, sharing the cost in the ratio 3:4. If after buying the gift it is noticed that the amount

left with P is % times his savings amount and the amount left with Q is Rs. 145, then the

value of that gift (in Rs.) is
P $08050 Q o3 agd réde o G 4:5. P 00050 Q oo a8 20srss)
p8Sodo 3:4 DXJED@DO“ DeyLowWoEd BP0, T°0 FSBE & ITVICIA) ¥R

2
Qa0 oTTD. & T0ITrS0 §X) 0708 P IG DADI ooy @8 FoHS* 3 S Koo

©d 500050 Q $& WADS iy 6r. 145 ©d K303, © wTvsrso PO (6r.0S")
(1) 105 (2) 175 (3) 140 (4) 70

AN NTIR 38
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R-5 Booklet Code | BB

Murthy’s savings and expenditure are in the ratio 2:3. If his income is increased by 10%
and his expenditure is also increased by 12%, the percentage increase in his savings is

B8 B0E), TP H00%0 PN QG 2:3. @8 wrroo 10% 8A SoBoin PAY)
ez 12% 0008, 98 FEHS & TS0
1) 7% (2) 11% (3) 6% (4) 13%

32.

12 boys, 18 women and 15 men working together earned Rs. 2,070 in a day. If the daily
wages of a man, awoman and a boy are in the ratio 4:3:2, then the sum of the daily wages of
1 man, 2 women and 3 boys (in Rs.) is

12 $008 wrendd, 18 K008 é’gpo 208050 15 5008 HEHDew E02 HIVD af e’
&, 2,070 Jor@owrdd. w8 HEHDE, 2w S0t S8 8 wrend Sward IsSSve
DG 4:3:2 008, @I w8 YEOWE, QK SoirFen S0B050 SIS wrend BwE)
erard IS0 IS0 (Er.os°)

(1) 240 (2) 180 (3) 205 (4) 135

33.

The speeds of three cars are in the ratio 3:4:7. The ratio of the times taken by them to travel
the same distance is

Sorcd 528 Ire ANEG 3:4:7. 2.8 $r0eQ) (KHOSredolm A €8 $orhy 5°8) BHKT dHrasre
QG

(1) 7:4:3 (2) 28:21:12 (3) %: (4) 3:4:7

w| -

1.
E

34.

1 1 1 1 1 2k -3

+ + + + = ,
2006x 2009 2009x2012 2012x2015 2015x2018 2018x2021 2006x 2021
thenk =

1 1 1 1 1 2k -3
+ + + + =
2006x 2009 2009x2012 2012x2015 2015x2018 2018x2021 2006x 2021
©on8, wdvdd k=
1) 3 (2) 4 ) 5 (4) 6

35.

If 20x189+63+90+ ; —15 =171 holds good when two symbols denoting the arithmatic

operations in it are interchanged, then they are

20x189+63+90 + g —15 =171 00F5w Q8 TS’ Hie o rDowsES Botk @ordd
DBBCHOR S BHITEH VDI &od, W

(1) +, X (2) + X (3) X, = (4) +, =

T 08
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1 6 5 3 4 1 3
36. —+t—x———+—+—0f —=
4104 46 2 4
y L y L 5 L y L
(1) 3 (2) 5 (3) 4 (4) >
37. 182+20%+22%+ .. +36°=
(1) 7620 (2) 7480 (3) 7420 (4) 7360
38. If27%=3Y=18%thenx,yandzarein
(1) arithmetic progression (2) geometric progression
(3) harmonic progression (4) arithmetico-geometric progression
275 =3Y = 187 w08, X, Y 500050 Z e
(1) o8EHS® &otrron (2) KoEHS® totrron
(3) TS EEES” Gotron (4) 908KEES® totron
NS S S 1
Co2%2-1 421 6%-1 242 -1
y A y 2 y B o 2
(1) 62 (2) 32 (3) 72 (4) 25
40 ( L + L jx( 0 — 3 J_
C\V2-V3-V5 V2+3-5) (36-Y4+1 ¥16+¥4+1
1 1
1 2 (2) 2 3) V6 (4) 23
a1, 1f Po3q then SP—9 _
a 5+73 2q+p
2
4+—
7
£:3+ 2 ©oNB, VIV 3p—q:
5 3 2q+p
2
4+ -
7
, 516 ) 576 5 87 o 116
(1) 305 (2) 305 (3) 315 (4) 345
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If a 3-digit number 4a3 when added to the number 984 results in a four digit number 13b7
which is divisible by 11, then b? —a? =

.8 Sordd wose dopg 4a3 8 Sogg 984 %o é@ib(‘éé‘jcfo IS Treoid wose dopg 13b7
S0, 11 a0 eridgoB, wH9dd b?—a%=

(1) 80 (2) 72 (3) 64 (4) 60

43.

The remainder obtained when 4% s divided by 7is

499 73 arnonsisyd Suoy Fo
(1) 3 (2) 4 3) 5 (4) 6

44,

I1f 232 + Lis divisible by a certain natural number x (1), then the number that is also divisible
by that x is

08 Q8Q dre dopg X (#1) 3 232 4 1erAoHnda, SRS Yo} dopg X B eHoDVAR dopg
(1) 2%+1 (2) 28+1 (3) 2%+1 (4) 2%-1

45.

The digit in the units place of the product 3%° x 6°° x 71 is
355 x 620 x 771 @acgzéoo R, 2.8 TS0 ©o3
1) 1 (2) 2 (3) 4 (4) 6

46.

A thief steals a car at 10:30 a.m. and drives away in it with a speed of 60 kmph. The theft
was discovered at 12 noon and the police started chasing the thief in the same path as he
traveled in another car with a speed of 90 kmph from the place where the car was stolen.
Then the time at which and the distance by which the police could catch the thief are

(1) 3:00p.m., 360 kms (2) 3:30p.m., 270 kms

(3) 3:00p.m., 270 kms (4) 3:30p.m., 360 kms

& 000 10:30 D50050085° a8 ol a8 5758 §ohdod et Kotrds 60 8.20. IKos®
S&PF oL I, Doargmo 12 Honwdo FOJ0w0 & FoRST) EHFY, 3678
SEHS® 088 90 8.0. 3K08" ForES0 20 PRI 08 Foif IYPS TSI & T
I0080DT . ©ond8 FOdowd & FoHS HERFT KD dHooso Hddw & &ol
HEPDBSHBE FOL T IS Srdo

(1) &. 3:00 0., 360 8.2%. (2) . 3:30 Ko0., 270 8.2%.

(3) . 3:00 0., 270 8.2%. (4) . 3:30 K0., 360 8.2%.

47.

Two trains having the same length are moving in the same direction at 54 kmph and 36 kmph
respectively. If the faster train crosses a man sitting in the slower train in 40 seconds, then the
time (in seconds) taken by faster train to completely cross the slower train is

a8 FEYNOAS Todd By HSdm Hobrsd 54 8.20. L0805 36 8.0, IK0S°® B HFS*
B oSredyamon. S8 S IS’ Bl Beod® Erd)d) a8 $58, A8y S Ifom IFPen
o orendoso 40 08 H&S, STV ICSIRNEVRY Rlefelex 30SS) B, S8y S Rlateroy
Béﬁéaéol Bl Jrgm orenddd Hey dBa%0 (?ooéée'j"s)

(1) 60 (2) 40 (3) 80 (4) 75
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A man takes a total of 11 hours to row 26 kms upstream and 36 kms downstream. Also, he
can row 30 kms upstream and 44 kms downstream together in 13 hours. Then the ratio
between the speed of the man in still water and speed of the current is

o8 558 B S38BERIS” 26 8.00.00 508050 P BFST 36 8.20.00 (BSTBOHTS
J0go 11 Hobren BT oirds. w8l W $3@3867S® 30 8.00. $o0a%0 Hardr BFS’
44 8.0, @HSrBoumA8 §0D 13 Moo BX0F0LrE. ©ond Judm &l LS
& 538 350 50050 ParETrBisne D65 A

(1) 3:1 (2) 2:1 (3) 4:3 (4) 3:2

49.

A person lent certain amount on simple interest. He lent 50% of that amount at 25% per
annum, 40% of the remaining at 10% per annum and the balance at 15% per annum. If he
received Rs. 6840 as interest after 2 years, then the amount (in Rs.) he lent at the rate of
10% per annum is

a8 $58 28 JBY 0T rNGE Ry, S8 & Bogod® 50% IR BoSLTIS
25% zS"K)jES, AOIS es® 40% Q) D03&)o°8 10% zS"K)OjES 08030 Q083> ADS
$TQ) B03HTA8 15% FTHIS erdIED WY YT, Vo JoSGTY ST
g8 & 6,840 oo ST FPobB, ©HYK WS BoIHTIE 10% THYS SE8 RS
E?Péoo&

(1) 9,000 (2) 18,000 (3) 5,400 (4) 3,600

50.

The simple interest on Rs. 73,000 for 488 days at 5% per annum (in Rs.) is
8. 73,000 o3 488 SPareodd 0580708 5% 26% Be RSAIY @d‘bg ar"daéé (Se.ee5%)

(1) 5,210 (2) 4,880 (3) 5,350 (4) 5,460

5l.

A person got Rs. 35 lakhs as his retirement benefits. He divided this into two parts and
deposited the amounts for simple interest in the names of his two sons having the ages

12% years and 20 years so that by the time they cross the age of 25 years, each of them will

get the same amount. If the rate of simple interest is 10% per annum, the amount (in lakhs
of rupees) he deposited in the name of his elder son is

w8 $g8 08 @& gHIESe éoéd&om 8. 35 ogen Fomrd. & Bt @Ed dow

1
ST WY, 7 125 Doddyoren 0w 20 dodGoren Sohdfe E5 agd

irHo IS 3708 25 HosEore $05d) Q0BT B TPE DTS BoogKoio PO
TSIGE IR DO R, wrdoNG S0 05H)T°A8 10% w008, et S5 D S5
DS EFRE VDS Ingo (0o Er.os?)

(1) 125 (2) 225 (3) 21 (4) 25
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A certain sum Rs. P amounts to Rs. 52,800 in 5 years at a simple interest of 5% per annum
and let Rs. S be the total interest accured for this period. If Rs. C is the interest at the rate
of 10% on P for 2 years compounded annually, then S-C =

28 dPR by &, P 3d 5% wrdhSgs® 5 dosgyoresy 52,800 &r.o IgSTE008
500050 8. S 938 & SsgHeS® NS zécf% Ingo wosod. Sr. Cw3d P 2
2 oot 10% a3 O B8 oD zﬁ@éé @ond, wdyd S—C=

(1) 1,870.40 (2) 1,689.60 (3) 1,056.60 (4) 1,080.40

53.

If the difference between the compound interest computed annually and the simple interest
on a certain principal for 3 years at 5% per annum is Rs. 305, then that principal (inRs.) is
058 5% 26% Bew RSN 3 Jodore 5°erd8 ¥ &)Qé ol FIP I
TEHSG 500050 FOT KeBoDS BESGe Doggie Bar dr. 305 w0, & Fhwy (Er.0S°)
(1) 40,000 (2) 32,000 (3) 80,000 (4) 72,000

54.

A building of worth Rs. 14,64,100 is constructed on a land of worth Rs. 6,56,100. If the
value of the building depreciates at 10% per annum and the value of the land appreciates at
10% per annum, then the time (in years) after which the values of both of them will be
equal is

&>, 6,56,100 Dend EOAS 2.8 “%3002.3 . 14,64,100 Qend Ko 28 35850 K)a&oﬁao&o&.
5850 B, Dend O 10% SrHdr 00050 Yoo Dend O 10% S0808 K008,
T8 Bo&oE Denden BIFHOTHLrIE ©SBEH g oo (RoSHTes?)

(1) 3 @ 4 (3) 3% @) s

55.

At annual compound interest, Rs. 1,200 becomes Rs. 2,400 in 5 years. The number of
years required for the same principal to become Rs. 19,200 at the same rate of annual
compound interest is

6. 1,200 0 3O SEIGE v n ©& 5 Jos3Gored® &r. 2,400 ©hsod. ©F FdI
zﬁ@é%&’m@s R ©den redo0y & 19,200 5°5@°8 Z)Eé Dod&yore dopg

(1) 24 (2) 15 (3) 25 (4) 20

56.

If the difference between the compound interests obtained by the process of compounding
annually and half yearly on a certain sum for 18 months at 10% per annum is Rs. 105, then
that sum (in Rs.) is

Fog loyp 18 Jvwd 10% 3dS 5§00 THPS HoSGEINSTEFD SESG 88,08
ég@eﬁi‘ 308030 @g 0SS BEH088Er0 zﬁ@é% 6@603 égé’éeﬁi‘ 265{) 5%@ S¢S Eafete)
105 &r.e0 ®ond, & 500y (Soe.e0e5%)

(1) 40,000 (2) 60,000 (3) 20,000 (4) 80,000
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57. A started a business by investing Rs. 18,000 and after three months, B joined him with a
capital of Rs. 24,000. From then after six more months, C joined them with a capital of
Rs. 36,000. At the end of the year if the share of C in the profitis Rs. 12,000, then the total
profit earned (in rupees) is
8. 18,000 o ”wéoama)&e? A FgFE0 (@FE0POAS ok Jvo SHad B edoaedo
8. 24,000 2en0é S’ & argrdod’ @EAS” BT W. & e 8 e Jvw vsosso,
C oo 8. 36,000 tn0ss” & Tgrdods’ 5708° VO, DoHHT 08B5008 HYND

oo’ C RBwg) arer 8. 12,000 o8, JoFBoAS Indo orglo (Errose?)
(1) 96,000 (2) 72,000 (3) 45,000 (4) 60,000

58. A and B started a business by investing Rs. 48,000 and Rs. 36,000 respectively. After
6 months, C joined them as a managing partner by investing Rs. 72,000 and a monthly
salary of Rs. 500 was paid to him from the annual profit for managing the business. If C’s
salary came out to be 10% of the annual profit, then the share of A (in Rs.) in the annual
profit is
A 38050 B oo 28 a7gror) 80 S 48,000 © K083 &». 36,000 ”@é}g)@&éﬁ
PE0DoNT . 6 Jve Sard S, 72,000 2enads® C J8cire erddrgdone RS 08
orgre Qob argardo &)(‘5533106(‘6063& ©EJ8 Jody 8. 500 £80 BOow . C >o&S

$&0 5708 wrgfos” 10% ®oN8, D0IET 08 rFoS’ AT (Er.os’)
(1) 8,100 (2) 12,000 (3) 10,800 (4) 16,200

59. Two persons Aand B hired a field on rent for Rs. 1,800. A puts 9 horses for 7 months and 10
cows for 3 months; while B puts 18 cows for 5 months and 30 sheep for 10 months to graze
in that field. If in a day 3 horses can eat as much as 5 cows and in a day 6 cows can eat as
much as 10 sheep, then A’s share of the rent (in rupees) is

A 508050 B oo agd Sg8e0 a8 erd) & 1,800 £ @38 08T, ¢ Peod’
D8 F00HEA8 9 HEorod 7 Ivorin Hocsn 10 sHodH 3 IvoFin A dobm,
18 s 5 Jveorin, 30 Food 10 Jvorin B ¢ wos® Godard. el Serd’
3 HEren &I 8 5 eHheoo SIKOR Fd J03redE IS0, WBIFom of Seres’
6 esHeo 83 & 10 FBww BIKOR & H0HrwrA8 ddrdo wond, A BYoLIVS
©g3S" grifo (Srarafe?)

(1) 1,200 (2) 600 (3) 750 (4) 450
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A and B entered into a partnership by investing Rs. 32,000 and Rs. 24,000 respectively.
After 3 months, Awithdrew Rs. 10,000, while B invested Rs. 10,000 more. From then after
3 more months C joined the business with a capital of Rs. 42,000. If the total annual profit
Is Rs. 26,400, then in that profit the share of B exceeds that of C by Rs.

A 508050 B en 80 $583m 8. 32,000 L0880 s, 24,000 1@&38.3236@3@@56 2.8 g0
PEoDoRTS. 3 Joo S, S». 10,000 o A I58H &8I, B edlonr
&, 10,000 o0& &M DN, & So0E $08° 3 Jvw vloEso C@éoéég_go &>. 42,000
DEPDEE’ & TgrEoS” eIy [ordd. DodEorogos® Iwudo wrgfo . 26,400
©on8, & ergfoes® C artr o0& B orérd eddomn ST RS0y (Erarase’)

(1) 3,600 (2) 4,500 (3) 4,800 (4) 2,400

61.

Teja, Deepu and Kanth invested Rs. 0.8, 1.2 and 1.6 lakhs respectively in a business. Teja
gets 10% of the profit to maintain the business and the remaining profit is shared among
the three in the ratio of their investments. If the total profit earned is Rs. 1,20,000 in one
year, then Teja’s total share in the profit (in Rs.) is

08 FPgrSoeS® Bas, B LS00 sPoSewn $&dM &, 0.8, 1.2, 1.6 0fe Sraralen Hinnd
DD, Tgrdo SeoPod)odasorso ergfoes® 10% B0 90y DADS o) S0 8>
T8 PO IQBS® HowB0LrS. 8 JoIST I8 SY)S Ingo oo &.1,20,000

®oNB, oS’ Ber IS0 TET RS0y (Soe.e0e5%)
(1) 24,000 (2) 36,000 (3) 32,000 (4) 2,800

62.

In the given figure ABCD is a square. EFGH is the square formed by joining the midpoints
of the sides of ABCD. LMNO is the square formed by joining the midpoints of the sides of
EFGH. If a circle inscribed in the square LMNO is having the area 154 sq.cms. Then the
area of square ABCD (in sg.cms) is

8od Does® ABCD &8 wSedddo. ABCD Bwog), ehere Sy HochPhods Eeodm d8)aS
B8 o EFGH. EFGH R0g), ehare &y Do gendm Ddo)&é He8o0 LMNO.
LMNO &oc% @o8dPosndd SEdzego 154 5.200.80. ©0o08, FSER0 ABCD 3#ego,
(5. 200.20.0¢5°)

A E B
L M
0 N

D G C

(1) 1568 (2) 196 (3) 784 (4) 392
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If the perimeters of a circle, a square and an equilateral triangle are equal, which one of the
following is true?

(1) Thecircle has the largest area

(2) Thesquare has the largest area

(3) Theequilateral triangle has the largest area

(4) Allthe three have the same area

w8 HEI0, wf BHIRD0 DO wE Jddwrdv Bghedne HEnFoded JddrsSom
@08, & Bod TS B DEgH0?

(1) 850 K8y ITogdndo §OA otaod.

(2) WSHERHD K0 STregsno §OA Gotnod.

(3) DHoerdv Babasn HBR ITog s §OA Gotwod.

(4) o Soorcr o8 ITogdn §OA otrom.

64.

A wire would enclose an area of 1936 m?, if it is bent into a square. The wire is cut into two
pieces such that the longer piece is 3 times the smaller one in length. If the shorter piece is
bent into a circle, then the area of the circle (in square meters) is
28 8 FHERs o SoDdDy o8 1936 F.n. ITergd) sS008. DEB0E),
P& DHB0E, FPEPE Sorcdd Tew e@doglotnr & SHS oo Hn§ o B, DS
S8 S0 HyBaSoom 500, @Oy & HHBSo BNE), ITOLo (889 baéoge.'i‘)

33

2
(1) [7) (2) 77.6875 (3) g (4) 154

65.

Ifp,, P,, P3, P4 represent the perimeters of the rectangles A, B, C, D respectively as shown
in the figure given below, then p,, in terms of p,, p, and p5 is equal to

808 H&r0&® Brnd éﬁg)z:séod@”e)o A, B, C, Do iy Fodedo S$3m Py, Py, Pg, P8
DA, Py, Py, P300S’ P8 d8rSo wiogh

A B

C D

(1) py+py,—Pg (2) py+p3—pyg (3) Py,—P1—P3 (4) py—py+Pg

66.

If ABCD is asquare, M is the mid point of CD and the area of triangle AMD is 4 sg.units,
then the area (in sq. units) of triangle AMB is

ABCD &8 %80, CD 3085000 M $08050 @zhezo AMD &g, ITOH0 4 $588%)
oﬁm&)gé, ©ehzo AMB Bxg), 3Toghn ($885) asordeys®)

1) 4 (2) 8 (3) 12 (4) 16
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In the right angled triangle ABC if AB = AC = 7 units, then the area (in sg. units) of the
circum circle of that triangle is

o8 @ehasn ABCS® AB = AC =7 afoordén ©oNS, & B30 Ry, D85S
STOFH0 ((fate?s) oﬁm&)ége.'if)

(1) 24 (2) 36 (3) 77 4) 99

68.

If the length of a rectangle is decreased by 10 ft. and breadth is increased by 5 ft., then
that rectangle becomes a square and the area of the rectangle is reduced by 210 sq.ft. The
area (in sq.ft.) of that rectangle is

28 BYHSRo Do), FEHS* 10 edrbed Ehod, ke 5 edbed DoDB By
& B BTR0 2.8 BEIBOM DrEr808 58050 & HY FHER FTogo 210 &, ©. SiHE0s.

e égzﬁéoéguo Sog), ITego (3. v.0°)
(1) 2614 (2) 2444 (3) 2914 (4) 2544

69.

If the price per foot for constructing a fence is Rs. 72, then the cost (in Rs.) of constructing
a fence around a square plot with an area 361 sq.ft. is

28 0B AW A8 WEDIL . 72 &y wond, 361 S8 wiribe Jrogote
SSEEED) {%@o oty $oB ABoWE A8 @d‘bg &) (8r.0e)

(1) 5,470 (2) 5,472 (3) 5,480 (4) 5,482

70.

A person wanted to construct a horizontal water tank with iron sheet in the shape of a
cylinder exactly surmounted by a hemisphere at both the ends such that they exactly match
with the periphery of the end faces. The maximum horizontal length of the tank is 14 feet
and the diameter of the cylinder is 5 feet. The cost (in Rs.) of the iron sheet required to
construct the tank at the rate of Rs. 28 per sq. meter, is

2.8 8§82 DIro&Y JrHSnsEy ok DITL Ko Sone ©othHeod HBVErIFS VIR SN
©880ubILY, w8 H$38 add THE o8 I8 & o BomroHhTIb. & &F Sog) K0R
§8e Srods FEY 14 edbrben $ododw drdo agdo 5 wdiber. aded 0% 8o

B8 8. 28 TIYS, & £ o DBUOWE I8 BIIEFS adod B &8 (.07
(1) 5,460 (2) 12,320 (3) 6,160 (4) 3,080

71.

Ahollow iron pipe is 21 cms long and its external diameter is 8 cm. If the thickness of the
pipe is 1 cm and iron weighs 8 grams/cubic centimeter, then the weight (in kilo grams) of
the pipe is

Fomrdod) el adod D) PEDH 21 0.0, HBED T ey agddn 8 0., & D)
By, $00¢80 1 00.20. H08050 BE0K0 $0.200.20.80 8 (rine 28P) §0A wod, & DI
RB0E), 25Y (8S*rSnes®)

(1) 3696 (2) 4.78 (3) 4781 (4) 3.696
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Asolid right circular cone is inscribed in a cube. The base diameter of the cone, the height
of the cone and the edge of the cube are equal in length. If the edge of the cube is 7 cm, then
the amount of water (in cu.cm) that can be stored in the remaining vacant space in the cube
IS

w8 Ho850S” w8 18 (solid) ooe :69@053 oY wodfPEom Gow . Fopo)
e;irs"gé:ﬁw, FoP) DY HF0BA5N0 BN Yo FPEHLO DA, PK[HN o?mézr oL
7 200.20. 9008 & DS80S Ad &) °® 0BT F0eS® QeNIBONHEOAS D3 HBETe S0
(H08 o0.20.0¢%)

343
m = @ B2 @ > @ =

73.

A cylinder is formed by joining the edges along the breadth of a rectangular sheet of length
54 cm and breadth 44 cm. Then the ratio between the numerical values of the lateral surface
area and the volume of the cylinder thus formed is

54 20.20. PED 508050 44300.00. ey Ko e B BHEFTEY AT Ieseny Joad
T ©otho EenHEr &8 Jdrdsm Ddo)aébéog BB, & o 563&26 Sh RS
o?mgz, @J§be§® 53_%‘052633 26380333 H08H8SreaSnw éoa}“’gééé HISNTS) Eéocﬁgﬁo &)‘5103@,
(1) 1:1 (2) 2:3 (3) 3.7 4) 2:7

74.

If 26! January of a non-leap year falls on a Sunday, then the day on which 15" August of
that year falls is

(1) Tuesday (2) Thursday (3) Friday (4) Saturday

0 D0IBos A 28 JoSHT0S® w50 265 B8 BHTEB, WY & dodSSSos®
ey 155 868 5Ty Ser

(1) Socongarso (2) KSHaso (3) HEa8o (4) $Jda8o

75.

A vendor sells ice cream by filling it in a conical shaped vessel with its crest taking the
shape of a hemisphere surmounted on the cone. If the radius of the hemisphere is 2 cm and
the entire volume of the Ice cream is 88 cu cm then the height of that cone is

w8 >0, ¥ ool wSEYH FES’ D Jod T $)zmes D8P EYSorr
2BIBEtR™ Y0NS wIF Yo ErHod® 2OEIK w0 wB0yE k. o8¢0 éooézr
Frgrgsn 2 200.00. 508050 B8 Roog), Ingo HoSHdHr00 88 $0.00.0. WoNB
Fog0Y) Vg I8

(1) 19 (2) 21 (3) 15 4) 17
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76. The height of a cuboid shaped container is 2.5 times its breadth and its volume is equal to
the sum of the volumes of 8 identical cubic shaped boxes, the length of whose edge is one-
fourth of the length of the cuboid. Then the ratio of the length, breadth and height of that
cuboid is
3?3; DTE oS 2.8 0BG BE) &y, T IS 2.5 Ty PHod Hdasw &
D05H8Sr0, 5%@50 FEHS® 4 S S0 PEH0 wodhmr 9L 8 SIely S8 Hoesey
DZo HIHBITeore a0 DITSH0. @I & éﬁgaq“wéo RooE), T, Scseny Soda%w
Qo NG
(1) 272:25:2 (2) 4:25:42
(3) 2V5:1:25 (4) 5:25:1

77. The radii of a cone, a hemisphere and a cylinder are equal. If their total surface areas are
also equal, then the ratio of the heights of the cylinder and the cone is
08 Fon), @gﬁ%?:éw 508050 drHINe TgFrTren dSrdo. T8 Jord do JTergen
Srer DEPSPB, wHYE & Srdsn $8H YowPHo KO IHY
(1) 31 (2) 1:43 (3) 1:243 (4) 2J3:1

78. If five times the present age of a boy is less than his age after nine years, then the present
age of that boy can be
(1) 3years (2) 2years

1
(3) 3years 3 months (4) 25 years
o8 ool XS SodNI% 5 By K08 8, I8 JosHore SHTE @S
$5050%9) 808 S5 38, © wrend HHS Ha%dY
(1) 3 dosgoren 258 (2) 2 %058 oren 55
1
(3) 3d0d&ore 3 Jven 575wy (4) 25 DoSETren 5258
79. The cost of 6 pens and 7 pencils is 51 rupees. By paying two more rupees extra, if we can

buy 7 pens and 6 pencils, then the cost (in Rs.) of two pens and two pencils is

6 33;630103 S08030 7 103&)“)@@ &8 51 Srnen. So8° 2 Socnen QB I Bowko Il Soko
7 8900 SoBasw 6‘@&){\)6@:63 SALhED SN 2 e Hodasn 2 2 & (Soe.ee5%)
(1) 12 (2) 16 (3) 18 (4) 8
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If ocis the least positive integer and [ is the greatest negative integer satisfying the inequality
|3x—=5| >7,theno+ B =

|3X = 5] > 7 o3 00887 SYn00T EIY ST 080 0 5050 KR ewves Yoo
B @ond, wdvd o+ =
1) 3 (2) 2 ) 5 (4) 4

81.

If the integers o, B and vy satisfy the linear equationsa + b +c =2,2a+ b+ 3c =9 and
3a+2b +5¢c =14, then 200+ 3B + 4y =

o, B, Yoo Q88 dogSearen a+b+c=2,2a+b+3c=9%0080%0 3a+2b+5c=14 oo
SYNH0B P osreond, wdvdd 20+ 3P + 4y =
(1) 4 (2) 5 (3) 15 (4) 8

82.

A watch gains 20 seconds in every 6 minutes. It was set right at 6 a.m. In the afternoon of
the same day if the watch shows 3 hours 30 min., then the actual time is

(1) 3:00p.m. (2) 3:09p.m.

(3) 3:15p.m. (4) 3:11p.m.

a8 K&ASr8o 18 6 Ao 20 DEDLos ©ddomr Frhdod. tdco 6 Kotied
D OGS HHoaTQ) zﬁr'so)éoéocg)n"’ ST, ©3 &e Hoergimo & KGasrdo 3 Koo
30 doarod Wradyos, edyed YIRS dHoaho

(1) Soorgmo 3:00 Kotoren (2) Soergimo 3:00 Koo 9 dnexd

(3) Horrgimo 3:00 Kot 15 duen (4) Sorgimo 3:00 fotre 11 duen

83.

A vendor purchased a mobile phone for Rs. 28,000. If the profit he obtained on that mobile
phone is equal to 30% of its selling price, then the selling price (in Rs.) of that mobile
phone is

08 gD, 30BS PO 8. 28,000 0% e DKo, © I0BS PR WSL Podd
o250, TP ©50ED) $8s* 30% 8 JSrdomr wod, & IBS P @508 ¢ (Ssene>es®)
(1) 32,000 (2) 34,000 (3) 45,000 (4) 40,000

84.

In adivision, the divisor is 4 times the remainder and the quotient is 7 times the divisor. If
the remainder is 7, then the least number that must be added to the dividend to make it
divisible by 9 is

8 erHIPER0ST eregdn TSNS 4 B S0k erifdeoo erustd8 7 B
€00, 330 7 ©ona, Deragdod 9 B rAoN0ET 008 8 eI 85 domg
(1) 2 (2) 3 (3) 7 4) 4
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The distance between two places A and B is 280 km. A car started at 8:30 a.m. from A
towards B at a speed of 40 kmph. Another car started at 10:00 a.m. from B towards A at a
speed of 70 kmph. The time at which both the cars meet each other is

(1) 1lam. (2) 12 midnight

(3) 12noon (4) 11:30p.m.

Bodkd PaTeo A Hdasn Beo $ogg drdo 280 8.20. af % Adod B R Kotodo
40 8.20. 350&* 8:30 a.M. § 2203000B008. L08° 5760 B ood A 3880 Kotaso 70 8.a0.

3fo&® 10:00 a.m. 8 20500030008, ©oNSB Bowy 57K wETISEL Edoss dHooso
(1) &S0 11 KSotoeso (2) ogor@ 12 Hotowso
(3) Howrgimo 12 Hotowso (4) o@©@ 11:30 Kotroo

86.

Two trains of lengths 240 meters and 360 meters, cross each other completely in 20 seconds
while running in opposite directions. If the faster train takes 60 seconds to cross the slower
train when both the trains are running in the same direction, the time needed (in hours) for
the faster train to cover a distance of 1008 km is

240 o0&y 508050 360 oed dEHen o Bow Ty, $3EOE BIS® SoBK)dydd
20 DELS® wETITES Jrom Treneton. © Towd B a8 BFST SEIEd I8 S
S0 IHS) B IH B IHN) Beod TLEA8 60 EK EX0K0B, IHS0SF0S Jew
1008 8&.o. &) Dasredona8 Ka?é D000 (Kotreres®)

(1) 10 (2) 12 (3) 14 (4) 16

87.

Ina 1500 m running race, the ratio of speeds of two runners Aand B is 2:3. If Ais ahead of
B with a start of 300 m in that race, then the winning person in the race and the difference
in the distance by which he wins the race, are

(1) A;100m (2) B;100m (3) B;200m (4) A;200m

1500 . H&KHoB0S? TS0t QG EHE A B B © e 3065 G 2:3.
& 5080 BERBgIN38, & HoBoS® Bod 300 o S0 S00dsd Ao, SIS
& H0B0S" ROF Hg§ LB Vo8 Srdo Hgergdos’ WS ROLE & Srdo

(1) A 100 3. (2) B: 100 2. (3) B: 200 2. (4) A; 200 5.

88.

The ratio of the times taken by three cars A, B and C to cover the same distance is 3:4:7. If
the speed of car A is 28 kmph more than that of car B, then the time (in hrs) needed by the
car C to cover a distance of 816 km is

A, B 50005 C el S 528 28 ¢5romQ) (Hosreso Bodards 8050 stodne g
3:4:7. 58 A &), 3o 526 B Ifo 8B Kook 28 8.20. 28 S wond, 816 8.0.0
EroeQ) @050 BoHE 8 575 C 8 éd:é D300 (Koboeres?)

(1) 20 (2) 14 (3) 17 (4) 11
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A and B together can do a piece of work in 120 days, B and C together can do it in 160 days.
A started the work alone, worked for 50 days and then left. Then B continued the work
alone for 70 days and then he left it. If the remaining work was finished by C alone in
130 days, then the ratio between the number of days needed by A, B, C respectively to
finish that work independently is

A 508050 B @0 02 2 JAJ 120 Sewreoes®Sy, B $08csw C oo 92 & HAD
160 Seros®S o BoRod. Aeotdm I (@dofod 50 Swen VIS S8 I
58O IS, ©HYE B .08 eI FIrAod 70 Sro SHIE wdl Sra
TR S5O IS ed. WAOF HA Ceowwdm 130 Sareds® rody, wdyk A, B, C oo
SEJM & HIJ SgSo@omr Jrf Dokt HF Sweo Hdg NG

(1) 2:6:3 (2) 2:3:6

(3) 4:6:3 (4) 2:5:3

90.

R and K independently can finish a piece of work in 8 hours and 12 hours respectively.
They agree to work for it in stretches of 1 hour alternately. If R begins the work at 9 a.m.,
then the time at which the work will be completed exactly is

(1) 7:00p.m. (2) 6:30p.m.

(3) 6:00p.m. (4) 7:30 p.m.

R 5080500 K @0 D&JAM 2,859 S8 8 Kodoen H50808n 12 Kobrees® JFrodcsreds.
T B8 Koo 28 TIPS Sodew T .80 So7gd w8 DAVADEAS 2dyE .
R & 530 &daio 9 fobrosh @6ody, & I Yrg oDogld)is SScko syom
(1) &csogo 7:00 (2) dcsogo 6:30

(3) dcsogo 6:00 (4) Scsogo 7:30

91.

A and B together can complete a piece of work in 36 days, while B and C together can do it
in 45 days. If Aworks twice as much as C, then the ratio of the efficiencies of A, B and C
respectively is

A 508030 B @0 802 2.8 HAQ 36 SPerees®Sor, B 508030 C e 02 o0 45 SPwreods®o
g Do, CEoB A B0 HAS008rk ©008, wdyd Sdm A, B S080» Co
FIoggine NG

(1) 3:2:6 (2) 6:5:3

(3) 2:3:1 (4) 1:3:2
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1 man or 2 women or 3 boys can finish a piece of work in 132 days. The number of boys
required to assist 3 men and 6 women to finish that work in 11 days is

28 PEORE B B Qe B 0K wrendd w8 HID 132 Serod® Hrg Fohred.
Saotfyth DM $H0H wHHH Joo © 53D 11 Fwost Frg SoLrds dBtahom

@56(‘5536‘305 erend dopg
(1) 12 (2) 36 (3) 27 (4) 18

93.

3 men and 4 women can finish a piece of work in 16 days, while 5 men and 6 women
can finish it in 10 days. If one man and one woman together finished that work and got
Rs. 3,675, then the share of that woman (in Rs.) when the amount is divided as per the ratio
of their efficiencies is

Boorath HBoed BB S Qoo Sod wf KAV 16 Swed® g Bobied, ol
DAY 2B DL Fo8050n BHHKH Rew Eod 10 e’ Fro BabKod. w8
DEE $0050 a8 (Q © HIJ FrY DL . 3,675 0 FodE, T8 FHTge IS’

¢ o) JBoIT, TIS® © (f’_oo e (Sraroles®)
(1) 1,225 (2) 2,450 (3) 1,575 (4) 1,025

94.

Twenty workers can finish a piece of work in 360 days. If 20 workers begin the work and at
the end of every ten days another 20 more workers of same efficiency join them to complete
the work early, then the number of days required to finish the entire work is

Q8Z $08 58 e 28 DA 360 Fwred® FroBodied. 20 $08 528 HeE" HAJ
8090, DA SgEm e B B Hd Fwro VIS w08 THdso Ho 6 20

5008 TS 2EWR, © F0go DAV Y VLIS WwIdIHGhy Swre dowg
(1) 90 (2) 80 (3) 60 (4) 100

95.

Usually, Priya travels from her home to the office with a certain speed and reaches the
office on time. As there was inspection, one day she increased her speed by 3 kmph and
reached the office 40 minutes early. On the next day, by reducing her speed by 2 kmph than
the usual speed, if she reached the office late by 40 minutes, then the distance (in kms)
from her home to the office is

P Ednm LoD $8 2085008 5°ogRoHNSE Fod JI§E IKos Hasredod
5°0Pg 050500880 BB HBBr8 BEE0LN0H. SID &8 8o wf Swd e 89
3 Kotso 3 8.20. Dowdosws 40 ADTe 500 STTPgRaird8 WKE0. o8
&%, 830 &I 3(?’&)‘:1 de8ee S0 Lol Koerdo 2 8.90. SHOTEOIOS B8R T°T O HNHE
40 doaren esodgonT 208, @I} B8R R0BR00s 57OPgaHBNI Ko drdo (8.90.0¢5%)
(1) 30 (2) 60 (3) 20 (4) 40
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Examinations are conducted in 6 different subjects for different maximum marks. The following
table shows the percentage of marks obtained by six students in those six subjects.
Using this information, answer questions from 96 to 100.

ZTe®) é’)a",)(‘éel ég@@oe'j‘ é’)a",)(‘éel KO8R S o8 H8gen Qcerow . &8 (808 DEE, & e é@&)@oef
SRS dargiien FHONS Sy © TE Q) WrYB08. & Jdrardo sgrdon 96 Sood 100
368 Ko PHos SSrerdo ab0b.

Subject Telugu English Hindi Maths  |General Science|  Social
(33%) | (Beoih) (esoifo) (3r08) (Ke8¢80) (@‘5.7‘?58'3"@0) (@voi)oé%“‘@o)
gt:odeant (outof50) | (outof50) | (outofl150) | (outof100) | (outof75) | (outof75)
83 (50 Eﬁr&)zpé\)) (50 Eﬁr&)zpé\)) (150 553“&)&0%\))(100 ér&)be)g\)) (75 ér&)be)g\)) (75 ér&)be)g\))
J
Kiran (8&¢5) 76 85 69 73 64 88
Hari (570) 84 80 85 78 73 92
Prasad (&) 82 67 92 87 69 76
Mahesh ($078) 73 72 78 69 58 83
Yaswant (cSo#508) 68 79 64 91 66 65
Satish (&%) 79 87 88 93 82 72
96. The approximate average marks obtained by all the students in English is
&*Joéocﬁ*S MlapNetlelales FHONS diftn Srdg e Lodrdomr
(1) 31.96 (2) 36.19 (3) 38.61 (4) 39.16
97. The total marks obtained by Satish in all the subjects are
©Q) SF{ oS O DAY FHONS Jogo Hrdy e
(1) 4235 (2) 4205 (3) 4445 (4) 450
98. The approximate percentage of total marks obtained in all the subjects by Prasad is

PTE o) IPHPoS® Fodd IJngo Srdy e TS0 SIS
(3) 94

(1) 65

(2)

82

(4) 76

24-B
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99. The average marks of all the students in Hindi is
ToBS® DTFEROED Diftn Srdy e

(1) 128

(2) 112 (3) 119 (4) 138

100. The average percentage of marks obtained by all students in Social (Approximated to two
decimal places) is

@"Of’mé%"@oé‘ Qergdhoodsr FEHONS e Sy o FBo (BoSSme Bod Cé%"o%@ga"o&)
(1) 77.45% (2) 79.33% (3) 75.52% (4) 73.52%

Direction :

POV LIRISE

Fill in the blank marked (?) with a suitable positive integer given in the options
in each of the questions from 101 to 104.

101 So0& 104 588 Ko @8 HHS® (?) HES Srad &, qi)d sozi)rbéoeS"s
NTeles Vi éé@“%ﬁoéé&a@s QoHodk.

101. 3 2 4
P 4 4 5 3 5

(1) 35

(2) 27 (3) 18 (4) 15

102.

2 (10 38110

(1) 8

7

6 ?

2 9 (3) 10 (4) 11

(1) 18

(2) 24 (3) 22 (4) 20
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On Dy &
G & &

(1) 19 2) 21 (3) 17 4) 8

105.

In the following figure, each cell marked with a number represents a face of a cube. Choose
the cube from the options which matches with the cube formed by folding along the sides
of the cells of the given figure.

& BND HLoeS' s ©o8E HBONI @@ﬁ&, 28 od0 BE) w8 S0P BenH&od.
38 He0S* Ko ghadne Joad eI Ddo)é D380 DOPFOE0TR HodSnl,

SEANRN TN S00& Qo8 0.

1
5 2
3
4 | 6
1 1
2 6
1 (3 @) | 2
2 6
4 5
3 | 3 4 | 2

106.

The four faces, other than the upper and lower faces of a dice are marked with 1, 2, 3, 4
successively in clockwise direction and the top and bottom faces are marked with 5and 6. If
that dice is placed such that 3 appears on the top face, then the number on the bottom face is

0 DS D) éagg, ©F ool WITFooWT DADS e dwgren Sdm
é:ﬁg&%@‘ 1,2,3,4 o0 0rc$088D Sodado x%ags, ©F 5050 5 K080 6«0 Tra&ESD.
é%gs Sopo 3 é&)i}oﬁ&éogn"’ & FAE GoNS, ©IPE T ©F S0PoP ©0R 08

(1) 1 (2) 2 (3) 3 (4) 4
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Directions : Read the following information carefully and answer the questions 107-108.
A cuboid of dimensions 7 cm x 5 cm x 1 cm is painted blue on both the surfaces of dimensions
5 cm x 1 cm, yellow on both the surfaces of dimensions 7 cm x 5 cm and green on both the
surfaces of dimensions 7 cm x 1 cm. Now, the block is cut into various smaller cubes of edge
1 cm each and the smaller cubes thus obtained are separated.
Srsden: §od addd ddrwrdoln wgm $6J 107-108 HHosd sarwndscod.
7 200.20. x 5200.20. x 1 20.20. SFodgen Ko 2.8 égwq“)oéoes‘ 5200.20. x 1 20.20. Foderse
Bodky trHdE0iNeR dwO, 7 200.20. X 500.20. SFoden Ko ok HOSOI0O T DIV
508050 7 0.0, x 1 0.0, Poden Ko Bod ehddoine widE) SohHed® howods
TS0, RSN IASIEEE 5%5»‘{)3@&)& ®ow% 1 doudo.r Ko D) Hosreon 8, ReP Dd‘bc%(‘é D)
POTO8 IHRIK.
107. How many cubes will have atleast two different colours?
AQ) PoTee %0 Bodkd DS Sorbods A &otran?
(1) 18 (2) 20 (3) 22 (4) 24
108. If the cubes having only blue and yellow colors and no green colour on their faces are
removed, then the remaining number of cubes is
50900 Jwo LB DY D) Forbeodd Sor 3o A RSN 60&36&% Do
TR, DADS P dowg
(1) 15 (2) 20 (3) 25 (4) 29
Data for Questions 109 to 111 :
i)  P,Q,R,S, TandU are six employees in acompany.
i) QandR are shorter than U but heavier than P.
iii) Sisheavierthan Q and taller than R.
iv)  Tisshorterthan S but taller than U.

v) UisheavierthanS.
vi) Pisshorterthan T but taller than U.

109 S00& 111 5850 Ko RHoS derodo :

i) PQR,S T508c50 Uen 2.8 $80008° esdorodd G goen.
i) Qodcsw Ren UgoB FGardh, 570 P 808 20838oed.
i) Soldord QLoB adhadord 50050 R 808 IS,
V) S&08 T &gt 520 U 808 Fd3dard.

V) S808 Uadadard.

Vi) T8 P&rgard 570 U $o8 agdarco.
109. Who among them is the tallest?

TOS® wEgod FEDS Hg8 ASE?
1 P 2 Q 3 S 4 T

AR 7.8




R-5 Booklet Code | BB

110. Who will be at the third place from the top if they are arranged in the descending order of

their heights?
T Ao wrdor w385 (EHos® @2636{)8, DI P H0d Hordd Fdost

€ 0LrE0?
(1) R (2) P ) Q (4) U

111.

Who among them is less heavier than Q and R?
DBS® AFK Q 08050 R EoB $89) 85 0SB357%0?
(1) u (2) R 3) S 4) P

Directions for questions 112-113 :

The second figure in the first pair of problem figures bears a certain relationship to the first
figure. Similarly, one of the figures in the answer figures bears the same relationship to the first
figure in the second pair of the problem figures. You have to identify the figure from the answer
figures which fits into the blank space and give it as your answer.

112-113 o ¥ Sorusden:

DBorgtro S0EO B0l B0l Ko V@ S” ToUS HLBNIL F0BIHLINE" 2.8 JZY
002008820 K. ORIGOM, BIT°eNDEILNOI08O 28 Herdw, K)Eﬁaﬁgééooe'j"s&) Bo&S 2385
B0E8E3H08° WBIEROS H02005°Q) A wob. I @q;é:éwef JBARB Do waren Hodoe

Qood K80, & A M ddrcrdone 822650&.

112. Problem Figures

HBofrg HLoB0®O

+ O O A a 0
AOX|x AC Y B ¢ ?
CS S X T A
(Figure 1) (Figure 2)
(Qgo 1) (Qgo 2)

Answer Figures

23720 D S0en

T ¢ BT o 0 T B
T B O a7y T T B ¢ d B a
o A A¢d T A v A
(A) (B) © (D)

(1) B 2) A @ C (4) D
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113. Problem Figures

HBofrg HLoB0wo

OI@IIQI?

Answer Figures

23720 DS

Pl D] ] &

(A) (B) (©) (D)
1 A (2) B @ C (4) D

Consider the following sequence containing numbers, letters and symbols. Based on this sequence,
answer the questions from 114 to 118.

Dopgen, @ETre, Hen Ko & Bod wdESrd) 80808, & o sprdomr 114 $ob
118 3650 o ©Hodd worwner 9d50d.

114.

abT*$A5@BCDd3XY#le9f72

The total number of symbols alone that lie between two letters of the English alphabet is

@0/ WEEETrOS Ttk wET e K¢y SHwo HKen SrE ¢oB, & Ingo H bopg
(1) 3 (2) 4 (3) 2 4) 5

115.

In the given string, out of the three types of elements namely numbers, letters and symbols,
the number of pairs, where one type of element is followed by another type of element is

QNS @IED0S*, Hopgen, ©ET RO $BA% HKLL BF oot EsPei BodS Sros o,
w8 85708 BoBY Srosd8 IIoI I6E 5708 BodS Sareoso ﬁo&%éo@mm )

RSO éogpg

1) 12 2) 8 (3) 10 (4) 13

116.

If the five integers that appear from right to left are replaced by the vowels a, e, i, 0, u in that
order, then the number of times two vowels come together is

o8& 00d D IR 8K 085 g Jopgo %"J“e.'i: 0y @SS 4, €, 1,0, U e
8 E500S® TR, I Do wuyew BEM SOV SJ0x0?
(1) 7 (2) 4 (3) 3 (4) 8
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If every symbol is replaced by the nearest letter that occurs before it, then the letter which
appears maximum number of times in the sequence thus formed is

©8 HEHD Sohod T TS0, T8 wEg0d JHWH0S HK) WS VLT GoDE,
e 33603&(‘6 ©EH0S” VEIHE I EAV0W wEso.
1) a (2) b ) A (4) B

118.

If the 41" element from left end and 41" element from right end are interchanged, then the
number of symbols immediately succeeding a digit is

QB FY o0& 45 Horest) oSN HE 3 ok 4 JrestR) HE)Bo Sorddy
(8°S8rd) WY, w8 908k WHBBID IHIoLI $T) He dopg.
1) 3 (2) 2 B) 1 (4) 4

In each of the questions numbered 119 to 128, a sequence of numbers and/or letters, which
follow a difinite pattern is given. Each question has a blank space. This has to be filled by the
correct answer from the four options given, to complete the sequence without breaking the pattern.

119 Joo0& 128 8% Ko (08 @3%;16’6 28 87 SSor e (Kacéé’é)&) 3*’&303&.3&33 ‘%‘é) Sogpgen
500050/Br wETeS, wHEITY BTG, K8 PHS® uf PP P Sod. VS Teurd
PO)FL 08 WHERICHErIE oo Sorsom oBotnm e 7O HBWoNS Barens’

oo,
119. 6, 11, 21, 36, 56,

(1) 76 (2) 42 (3) 81 (4) 95
120. 6,8, 10, 14, 18, , 34, 50, 66

(1) 22 (2) 26 (3) 25 (4) 24
121. 225, 336, 447, , 669, 7710

(1) 548 (2) 597 (3) 558 (4) 537
122. 1,2,5,12,27,58, 121,

(1) 248 (2) 253 (3) 365 (4) 197
123. 2Al10, 4E9, 817, 16 M6,

(1) 3204 (2) 30U6 (3) 31U7 (4) 32U5
124. ABD, DGK, HMS, MTB, SBL,

(1) ZKU (2) ZBA (3) ZKW (4) ZWK
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125. BDF, CFI, DHL,

(1) EMI 2) CIM (3) EJO (4) EML
126. AD, EH, IL, , QT

1) MP 2) MN 3) OM 4) LM
127. 2Z5,7Y7,14X9, 23W11, 34V13,

(1) 47U15 2) 47V14 (3) 45U15 (4) 27U24
128. D, FH, LNP,

(1) VXZB 2) VWXZ (3) ZWUY 4) ZUVW

Directions for Questions from 129 to 133:

In each of the questions (129 to 133) there is a certain relationship between two given entries on
the left side of (: :). On the other side of (: :), one entry is given while the other entry is to be
chosen from the given options bearing the same relation with the pair of entries on the left side

of (::) and give it as your answer.
129 Z00& 133 3650 Ao DHosd dss:

129 5006 133 568 o @8 PHS' (1 1) S8 &5 IYS QS Bot woFdwwds DS a8
QDY dowogo wod. (::)8 To& IYS 28 @oFHND Fdem, 0T Vo) $8 aoi')zbswe)(‘é)o& (:2)
38 D Y8 o 28 oz HFghe Hoow) @Jééé)o@oﬁ?éogﬁ“ DB QOTHED, A M

22N a:éogo&.

129. BCFG : HILM :: NORQ:

(1) TVWX (2) TXWU (3) TXUW (4) TUXW
130. 63:344::80:

(1) 511 (2) 729 (3) 513 (4) 144
131. 010409:321:: 1432

(1) 160904 (2) 030736 (3) 040916 (4) 160409
132. CXDW:AZBY :: GTHS:

(1) EVFU (2) FUET (3) ETVP (4) EVUF
133. ZYXW :DCBA :: VUTS:

(1) HGFE (2) EFGH (3) PQRS (4) ONML
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134. Awatch which gains uniformly is 10 min. slow when the correct time is 10 a.m. on a day.
On the next day it shows 10 min. fast when the correct time is 1:12 a.m. The clock shows
correct time at

(1) 5:36 p.m. on the first day (2) 10:54 p.m. onthe next day
(3) 12:00 noon on the next day (4) 11:35p.m. on the first day

868 DB0a5rd) wESomr SrHoB e HGASrdo, wE & $8 ©od BHoako oo
10 Koboo®y, 10 e 50 S HH0BrQ) Srdyod. $o8dE & $8 ol ddoddo o7@
1:12 Kotooso, 10 duen 80 S D5008rQ) Srdiod. @008 & KGaSrdo dmry HBoasrd)
SUTAEA A |

(1) Io0Ke38% aSogo 5:36 o (2) $5050&38%» oo@ 10:54 o

(3) S8 Sogrgimo 12:00 £ (4) I8’ oo@ 11:35 &

135. Atwhat time between 10 and 11 O’clock will the hands of a clock be in the same straight
line but not coincident?

9 . 9 .
1) 16— min. past 10 2 — min. past 10
(1) 11 p (2) 2111 p
3) 172 min. past 10 2 217 min. past 10
(3) 17ﬁ min. pas (4) 17 Min. pas

08 GOS80 ™ Bodosnenen 10 Sodasn 11 Kore Koy Q DB00%00eSt 28 HEYEpS®
Gotr, &8 TR &L BHoT wotron?

(1) 10 Koo jI_6g Quex (2) 10 Koo 21g Quex
11 11
(3) 10 Koo 173 dnexn (4) 10 Koo 211 Qdnexn
11 11
136. If 101 April of an year is a Friday, then the date on which the second Saturday of May in that
year falls is
2.8 $03)80S® RIS 105 BE HETEIE, @ JH03HBoS® F IS Bod TS0
ST 88
(1) 8 (2 9 (3) 10 (4) 12
137. Inthe year 2008, 9t May was a Friday. The day on February 14™ in the same year was
(1) Thursday (2) Monday (3) Friday (4) Wednesday

2008 5058)80¢5° 30 95 8O HETE0 ©0008. WG DoIBoS® PEHE 145 BES ©w&ogS e
(1) KSHaso (2) dFSoaSo (3) HEa8o (4) engado
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138. Inasequence of 12 consecutive odd numbers, if the sum of the first 5 numbers is 425, then
the average of these 12 numbers is

12 $&% Bi’oéogpgo @8e°, 3083¢3 5 dopge Ingo 425 ®ons, e 12 Dopge Hifew
(1) 90 (2) 92 (3) 94 (4) 88

Data Analysis :

The pie-chart and table given below show the percentage of lecturers and the ratio of male to
female lecturers in categorywise of 6 subjects in a university.

Total number of lecturers : 2400

&S 0% JZher: (8065 R5g2GS -w°§ 00050 HEE w8 DFZAT 000G ) BESY TS0 B0
QOO HoBB» e B QB wdh dFPHoadn Srdoamon.
Swgo BEEY dogpg : 2400

Lecturers Male : Female
Physics | (BE)8) (HHdoen . @oo)

(FeszBo) Hindi (30 &) 5:3
18 Mathematics (Ke3<80) 3:1
Zoology (03 50) 1:7
Chemistry (8rasodaK0) 3:4
Physics (F &8z 50) 3:5
English (esoffo) 2:1

Based on the information given, answer questions from 139 to 143.
& dSrardo esardon 139 Sod 143 S88% Ko ©Hod S0 25c0&.

139. What is the total number of male lecturers in the university?
QAT 000" Jngo YN BEEY dopg Dod?
(1) 1212 (2) 1712 (3) 1217 (4) 1200

140. What is the difference between the number of female lecturers in Zoology and the number
of male lecturers in Mathematics?
aoéo%"@oe’)“ $ore BEYSY domwg 0B He3BoS” YEOL BESY dopg Py Ko 3@
0¢8?
(1) 100 (2) 152 (3) 92 (4) 96

AT 3.8
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141. The number of lecturers in Chemistry is what percent of the total number of male lecturers
in both Mathematics and Zoology?
SFODITRoS” BHEY Jompg, HeBE $o0050 20HT oS’ To&oBS™V Swgo Pl
BEBY éogpegé“s Q0o FE0?
(1) 70 (2) 64 (3) 72 (4) 76

142. What is the ratio of the number of female lecturers in Mathematics to the number of male
lecturers in Chemistry?
Ke8380e5° Sodree BEY8Y dopgso HoBasw 6@053:6%“’@065 DR BEEE Jopgso Soggie
QG Qod?

(1) 2:3 (2) 1:1 3) 2:1 (4) 4:3

143. What is the difference between the number of lecturers in Zoology and female lecturers in
Physics?
aoéo%"@o@‘ BEYEY Dopgdy $o8as0 23‘@%%"@06‘ e BEYSE Dopgsd Sodgre SgEtgdo
QD0 ?
(1) 124 (2) 143 (3) 114 (4) 140

In each of the questions 144 to 149 there are two statements labelled as Assertion (A) and Reason
(R). Give your answer as
(1), if both (A) and (R) are true and (R) is the correct explanation of (A);
(2), if both (A) and (R) are true but (R) is not the correct explanation of (A);
(3), if (A) is true but (R) is false;
(4), if (A) is false but (R) is true.
144 %000 149 588 Ko HHOS® IS0 (A), s°Emo (R) o3 Dodks HIsarels @, a0
é:ércp‘“a“’&)o)
(A), (R) @0 Bodr 855098, (A) Bwg), H8GS S8 (R) @ox0d (1) od;
(A), (R) &0 Bodr d8g0hsr, (A) Gwg), K008 s (R) 525008 (2) od;
(A) 5853, 50 (R) e@d8g0 @008 (3) ©d;
(A) ©d8g0, 520 (R) 3¢50 @008 (4) ©d, 1l0é.
144, Assertion (A): Ifx:y =2:3 and y:z = 5:4, then x:y:z = 10:15:12.
Reason (R): Ifx:iy =l:mandy:z=p:q, then x:y:z = Ip:pm:mq.
AESco (A) 1 X1y = 2:3 50005» Yz = 5:4 @ond, ey Xxiy:z = 10:15:12.
80 (R) 1 Xty = I:m $5805» iz = pig ©008, odydy X:y:z = Ip:pm:mg.

145. Assertion (A) : Any three diagonals of the faces of a cube always form a triangle.
Reason (R):  Any three lines forming a triangle lie in the same plane.
HBSc0 (A) 1 28 S50 Bg) 2 Sy Sopdne DEEL0L WONT IQIPEr &8
BeHesoon Dcibcéo@“’oao.
s80sn (R) ! a8 8ehard) 610 o Sorrd S8¢ TpBT &8 dHde0s” woirown.

IO 3.8
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146. Assertion (A) : For positive numbersa, b, cand d, if %: b andd-a=c-d,thend>h.
C
Reason (R):  The arithmetic mean of any two positive numbers is not less than their
geometric mean.
AB8co (A) 1 &S dopgen A, b, ¢ Hodasw d o %:9 L0800 d—a=c—d ®ons,
C
odyd d>D.
80 (R): Q3o &8 Dopge BNE) ©0oEHEG00 @, ¢ Hedogsoo 08
S5 S 6.
147. Assertion (A) : Earthworms are not good for agriculture.
Reason (R):  Earthworms break down the soil into fine particles and make it soft.

AgyB&co (A):

IgITASrIE FrdrIner 00D 5.

s8edn (R) 1 o8 rdnen H8 drgiferoom dFad B o) SoydoHm Bomw.
148. Assertion (A) : Household electric wires are not usually made with Silver.
Reason (R) :  Silver is not a good conductor of electricity.

AgyB&8co (A):

ﬁgo“)‘sséo?mﬁ Desogs B8 Fordom BodE SASTETANK.

520 (R) ! 308 w8 $ood Jdogsarirgo soch.
149. Assertion (A): If S, = an? + bn + ¢ is the sum of the first n-terms of a progression, then it
is an arithmetic progression.
Reason (R):  If the difference between the n' term and (n — 1)1 term of a progression

AgyB&8co (A):

80 (R):

is independent of n, then it is an arithmetic progression.
S,=an?+bn+Ccedd o FES'A IS N-HEsSne Igo wond, ©d
o8 o B&.

2.8 BAS’A NS HSo So8a30 (N—1) S HSSwe FEHw N2 SFTEHEENFS
©IY 08 2.8 ©oERER.

Directions for the questions from 150 to 159 :
Three of the following four given options are alike in a certain way and form a group. Identify the
one that does not fit with this group and write it as your answer.

150 Zo0& 159 3685 Ao DHosd dss:
BHSS NS T pD)FeS® Sordd &8 IZR 68e° wf JdSwardom dEyEerow. &
HBNTAHOS” VBHEI B & 2Y)EDNS H5od TAD N 2T w0m 208

150.

(1) John Keats (2) Leo Tolstoy

(3) William Wordsworth (4) Alfred Tennyson
(1) =S 88 (2) &R trdapd
(3) DO S§HNG (4) «SEE BYSS

35-B
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151.

(1) Median (2) Mean

(3) Frequency distribution (4) Mode

(1) Socsgriesson (2) @o8Sdgdoo

(3) Sy Degresdsdon (4) erdoEEdn
152.

(1) Elevator (2) Staircase (3) Bridge (4) Escalator

(1) 2036 (2) Ro0ESED (3) ©& (4) 2B
153.

(1) Nephrology (2) Oncology (3) Astrology (4) Cardiology

(1) Jerod (2) oz (3) oo (4) sgosro
154,

(1) Bureau of Indian Standards (2) National Testing Agency

(3) NITIAayog (4) United Nations Organisation

(1) 2rg8® &9 208008 Fokd) (2) IRIS BYOR 2z

(3) NITles&R (4) HB0IBE IAS) SEIBAS
155.

(1) Autocracy (2) Diplomacy (3) Theocracy (4) Bureaucracy

(1) eses®8 (2) &R (3) BI=E> (4) args'Ed
156.

(1) Shoe : Leather (2) Iron:Hammer

(3) Table: Wood (4) Jewellery : Gold

(1) Ho: 886 (2) 28 : H56

(3) Bens : H& (4) 5 : &G
157.

(1) 15:125 (2) 21:175 (3) 18:150 (4) 26:200
158.

(1) (EW) (2) (LR) 3) (O,L) 4) (U,F)
159.

(1) Chisel:Carve (2) Auger:Bore (3) Saw:Cut (4) Gun:Bullet

(1) 2= : 56 (2) esK56: 5°6 3) & : 88 (4) A : 208¢

36-B
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160. One evening before Sun set, Anil and Sunil were standing apart facing each other. If Anil’s
shadow was exactly to his left, in which direction was Sunil facing?

(1) South (2) West (3) North (4) North-East
RrorgHRITA8 5008 2.8 Foo@o WIS AN IS .88 Jo& HEEH Fod
ErE0eS® DBGHM Joad eI, IS R0E) A HBMT WS IEDIY woB, LIS
) &éobé& WHS0Pone ﬁs:lcéa?

(1) &80 (2) HeES8 (3) 8o (4) =S50

Direction for questions 161-162 : Study the following data carefully.
P, Q, R, Sand T are standing in a ground facing the North as follows:

P is 30 mts. to the right of Q.

R is 100 mts. to the North of S.

Pis 60 mts. to the left of T.

S is 60 mts. to the South of P.

161-162 @Hos s [ & (Bod $Em0ddn g ©Egoso Baskm.
P,Q,R,S50050 T e 28 T°$085° &8 &30 edSopon 804 €8 (8od o Q2G50 50!
Q8 %a33 30 . &rsos® P €y ).

S8 e85 3DS 100 ab. o R esamiko.

T8 e 39S 60 Q. Sr8oes® P €y ).

P8 cS8easion 395 60 ao. crdoes® S wamycbo.

161. The person to the South-West of the person who is to the right of P is
P& %6395 &) 5588 358 BIST &) 558
(1) Q (2) R @) T 4) S

162. Aboy starting from Q moved on a straight path to reach R and then from R to P on a straight
way. Finally he reached T from P on a straight path. The total distance (in meters) covered
by the boy is

08 ereud Q S0d 20Hendd IHmd) Srdod® R & B0, & Shard o§) & $ob
Il Srgoess® P & Bomi. @8k DI8S° P $08 Idmdod) Segoss® T o Bdodoam)c.
& 20 (RVASre3oNS Jndgo drdo (E)oéogeﬁ'ﬁ)

(1) 210 (2) 150 (3) 270 (4) 230

AN 378
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Directions 163 to 167 : In a certain code, the rt" letter of the English alphabet, forr=1,2, 3, ...., 13
is coded as (2r — 1)t letter and for r = 14, 15, ..., 26, the r!" letter is coded as (2r — 26)™ letter.
For decoding the inverse process is followed.

By using this code, answer the questions from 163 to 167.

JrRden 163 Sood 167 850 : 8 A8Q §& Jod, eod EEIr0eS ™ Id ©goQ), =1, 2, 3,
ey 13 080, (2r — 1) $ egorrdy S8 r =14, 15, ..., 26 0% I $ @80y (2r — 26)S
wESomd & BFS. &8GR BSNLE B IS BB FBI%.
& 86 &dHRrhod 163 o& 167 $88 Heo RHod 2amen oradod.

163.

The number of letters whose code is itself is
08 ©E8o Bw¥) §'6 w8 vElo ¥Ry WET Y Howpg

(1) 1 (2) 2 (3) 3 4) 0

164.

The code for the word “REASONING” is
“REASONING” &3 $&0 Rwg), 86

(1) JALBDQBM (2) JIADLBQBM (3) JIALDBQBM (4) JIALDBMBQ

165.

The code for the word “COUNSEL” is
“COUNSEL” @3 %o SBwg) 86

(1) EDPBLIW  (2) EDPLBIW  (3) EDPLBKW  (4) EDLPBKW

166.

The string coded as “DIRECTION” is
“DIRECTION” i §°& ©W0%02088 H38e3

(1) OEVCBWETH (2) GQIIEOQDB (3) GQJEIOQBD (4) OEVCBWEHT

167.

The string coded as “PROFITS” is
“PROFITS” m~ §°& @30%02088 863

(1) UVHPEWJ  (2) UVHRGYJ  (3) FIDKQNL  (4) FIDMSLN

168.

In a certain code language, if GUIDANCE is coded as FSFZVHVW, then the code for the
word “SHIFT” is

28 287 86 eid’, GUIDANCE & FSFZVHVW i §°& @73, @y “SHIFT” 3 H¢o
R0g), &

(1) RFEBO (2) REFBO (3) RFFBO (4) RFFAN

169.

If in a certain code language, MONKEY is coded as “XDJMNL” and TIGER is coded as
“QDFHS”, then the code for the word PANTHER is

2.8 ABR 86 erdS’, MONKEY 9 “XDIMNL” e $0808» TIGER & “QDFHS” i §°6
T, 0dyd PANTHER 3 568058 §&

(1) QDGMSOZ (2) QDGSMZO  (3) QDGUOZR  (4) QDGMSZO

IR 3.8
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Ina certain code, if WINDOW is called as DOOR, DOOR is called as BED, BED is called
asAIR, AlR is called as FLOWER and FLOWER is called as COOLER, then on which one
will aman sleep?

2.8 81 §°& &°, WINDOW & DOOR mé>, DOOR & BED e, BED & AlIR&oe, AIR
% FLOWER &> FLOWER & COOLER m&e 907, @0y a8 5000 3073 dBaxpco?
(1) BED (2) DOOR 3) AR (4) COOLER

171.

In a certain code language, if
145’ means ‘Rama is intelligent’, *526° means “Sita is clever’.
‘247 means ‘intelligent and clever’, then in that language the code for *Sita’ is

08 8y §'& arleS”,

‘145’ oS3 ‘Ramais intelligent’, ‘526’ oS “Sita is clever’.

247" oS “intelligent and clever’ @ond, by e st ‘Sita’ B §°6
(1) 5 (2) 2 (3) 6 (4) 4

172.

Inacertain code language if “EXAMINATION” is coded as 56149512965 and “MOBILITY”
is coded as 46293927, then the code for the word “PUBLICATION” is

0.8 /R §°& erddoch “EXAMINATION” & 56149512965 o $o005» “MOBILITY”
S5 46293927 mdo & T, “PUBLICATION” o3 Hdo Gwg), §°&

(1) 73223913965 (2) 73229321695

(3) 73223919265 (4) 73239312965

173.

Raju’s mother has only two children and one of them is unmarried. Raju’s father-in-law’s
only daughter is Seema. Then Raju’s brother is related to Seema as

(1) Brother (2) Uncle (3) Husband (4) Brother-in-law
Trer G308y, 98 AG Do SPEH G $H00 TBS® 2,808 T 5B, Toer
o?mézr S Ko Dog_é 8050°g 30. @K)jcéo DB080 Trer FFSSHAS Ko Dowodo

(1) &S0 (2) 89 Sw Sod FSS

(3) &8 (4) $08/erSmSo

174.

If A x B means Ais daughter of B,

A+ B means Ais father of B,

A+ B means Ais mother of B and

A-B means Ais brother of B. In view of this notation,

from the expression P+ Q + X =Y x Z, how is Z related to P?

(1) Mother (2) Mother-in-law

(3) Daughter-in-law (4) Daughter
AxBeodn B Bx0g) 505579 A,

A+Bodnm BRwg) doé A,

A+Beodnm BRxg), 9 A,

500080 A-B ol B Bog) s A. & $088 DES Syrs,
D3rd80 P+ Q+ X-Y xZ%ok, P8 Z& Ao Howogo totnod?
(1) & (2) w8 (3) &&%eo (4) BrsS

AR 3.8
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Directions for questions 175 to 177 :

Following conditions were laid down to get admission into M. Tech. programme in a university
for the academic year 2020-2021.

(1) The candidate must have completed 25 years as on 1.12.2020.

(2) The candidate must have passed B.Tech. with a minimum of 55% of marks.

(3) The candidate should get atleast 60% of the marks in the written test conducted.

(4) The candidate should have atleast 6 months of working experience.

In the case of an applicant who fullfill all the other conditions except,

(2) above, but has M.Sc. degree, then the candidate is to be referred to the Vice-Chancellor.

or
(3) above, but has more than 2 years of workir(lg e)zxperience, then the candidate is to be referred
to the Director.
175 o0& 177 38850 o RHHosd Jordden !
2020-2021 dorg $05)ES50eS” wE JFdargocosods M.Tech. @ raoes® B3 §H50580
DRoWARS Jodren & §od Jomr €3 07)00.
(1) 1.12.2020 s°¢38 wgigl HI%lY 25 Jod&oren P won womd.
(2) w50 800 55% Srdy 08 B.Tech. #8538 wowd.
(3) wgig8 EgrotadS S508 Sockh 800 60% Srdyen Fodeowmd.
(4) @eﬁgg Q%0 6 Jwen HY wdegSo E9A GodIBL.
2E3Y SEPT T IBE ©) Aol ITRLHIE, P TES®
Qoo (2) Lo 3636&8:6535&0, 03J8 M.SC. i &0 e @eﬁggﬁ) 30 P68 BHE WaAsrd.
B)
Aodoo (3) 5636{)8(‘65’35663, 088 2 J03T0E0B Q8D DA wlogSo &08 e @2;552&)
BEEEE BHE Bosrd.
175. Arun has been working since 2017 in Infosys after completing his B.Tech. He was born on
11.11.1996 and got 60% marks in written test. He got 47% marks in his B.Tech. Then
(1) Arunwill be admitted.
(2) Arunwill not be admitted.
(3) Arun’s case will be referred to the Vice-Chancellor.
(4) Datais notsufficient for taking any decision.
o8 B.Tech. g 3%, 2017 o0& adydts® HBxand. edds 11.11.1996 § =dyjomrds
508050 (38 H08S° 60% Srdy en roard. B.Tech. &° edc 47% Srdyeo dromrd..
SRS
(1) & KHIFo Fooa .
(2) @& HIFo FosSEo.
(3) &b DAFBrQ) IO FrRQYeEL 856 Boderdrsood.
(4) D dgosoo BoFEE & SSoFsn BOFD.

AN AETR A w08
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176. Vijay got 53% of marks in B.Tech. and 63% in the written test. He has been teaching since
4 years after the completion of his M.Sc. He was born on 15.12.1984. Then

(1) Vijay will be admitted.

(2) Vijay will not be admitted.

(3) Vijay’s case will be referred to the Vice Chancellor.
(4) Vijay’s case will be referred to the Director.

dezoS B.Tech. S0k 53% Srd e, o8 H0850k 63% Srdp oy Fodl. w8t
M.SC. 8 ®ond SHard, K8 Treuld doddore ok §°¢S Boﬁaoz;ﬁaazcéo. e8¢0
15.12.1984 & 22Q)0B0. @y

(1) Dzod PIFo Froos .

(2) 2e0% PHIFo FosSo.

(3) oS Ao I FRYEL 8HE o kBod.
(4) Deo® Dhoho FOEE 8HE Bowksod.

177. Viswa was born on 15.4.1990 and he got 87% marks in written test and 57% of marks in
B.Tech. He has been working in TCS for the past 2 years. Then

(1) Viswawill be admitted

(2) Viswa’s case will be referred to the Vice Chancellor.
(3) Viswa’s case will be referred to the Director.

(4) Datais insufficient for taking any decision.

D¥g, 15.4.1990 & 220080 08050 w8k 8 H8EI0cd 87% Sodasn B.Tech. Sodkh
57% S oo odd. €8 2 doddjoreon @8k TCS o HAVKT)k. ©hyd

(1) 45 ©IFo Fodoerc.

(2) D DRI IV QYL 856 Boderdrsood.
(3) ¥ Diacsosn FOEEE 096 BoheKks0s.

(4) 2 dgoso I8 Sevofo wdSod S

AN AETRR O e
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Direction 178-179

SevenpersonsP, Q, R, S, T, Uand V are sitting in a row as follows:
(1) Qistothe immediate right of R.

(2) Risfourth to the right of P.

(3) SandU areimmediate neighbours of T.

(4) The Person who is third to the left of S, is at one end of the row.

QoS 0 178-179

K Sg8en P, Q,R,S T U&S008d80 Veo & 808 o a8 SKIS° ErGA80I7) .
(1) R% 54398 IF0L3 Q evamycso.

(2) P8 58398 e @5(‘60@5‘ R ok

(3) T& I0Towd adh P& Sdasn Ueo e

(4) S RE) JEIHS Bord SN0 fo 58, HOVS® &8 AIES &Indd.

178. The persons to the right of R are
R % %8398 &) Sg8en
(1) PU (2) S,QV ) QV 4) QS
179. The persons who are on either side of that person who is exactly in the middle, are
éi’){)éom éocﬁgeﬁ"‘ @&a@ 3588 QHIJo ﬁu‘Sol Sg8ye0
(1) T,R (2) S,Q (3) T,Q (4) R,S

180. For distinct integers a, b and c, the expression (a — b)° is positive if
DS Jrgroseen 4, b, c ©% (a—Db)fed S0 S8 80 5°HEI8 Q&

(1) b=2a (2) c=2a (3) c=-a (4) b=-a
181. For positive integers x, y and z if the product xyz is always an even integer, then a possible
condition is
(1) xisodd (2) yisodd
(3) x+yisodd (4) x+y+zisodd

SSYrTosen X, Y, Z 080 ©Q0 XyZ QY HBdoPg ©OoNS, @ég:ﬁadﬁog 28 QoSS0
(1) xBddowpg (2) yeBddowg
(3) x+yBdowg (4) x+y+z8ddomg

A AETRR 28
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In a class of 60 students, the number of girls is twice that of boys. Ram is ranked 17t from
the top. If there are 9 girls ahead of Ram, then the number of boys with ranks after Ram’s
rank is

60 So0d Aogiaen Ko 28 SERHS®, O Sopg wrend dopgdy BEow). Pod
B8 oDSDY Tr0 175 FSoS® Gwaydd. oo 0B S 9 Hood © 870000 & 08B, 00
org088 Soed U°§o$’\>e>(‘63 EOAS erend Doy

(1) 12 (2) 13
3 9 (4) 7

183.

Among the positive real numbers a, b and c, the largest will be a if
S FrQRdopgen 4, b 508050 C 05 a ©& P 57ITA8 DB

(1) a-b>|c| (2) a+c>2[y
(3) a+b=2c (4) l|a|<b+c

Directions 184-185 :

Eight persons A, B, C, D, E, F, G and H are sitting around a circular table facing the centre. B is
second to the right of D and third to the left of C. H is second to the left of E, who is also to the
immediate left of B. G is third to the left of F.

Sorsden 184-185 ¢

AAG Hood Sg8yen A, B, C, D, E, F, G 508050 Heo 28 Hodd ae oty SoEHIngpomr
Erdado. B B0, o D § H83:93 BodSs 0880 C 8§ 2850393 Sordsss. B 8
26539 BhoToksd &8 E &, dHDHS 065 20t H gods. F & b 393 Sards
@géoé‘ G &, |

184.

The immediate neighbours of C are
C % I0B0Ld 28IYo GHTH

(1) AF (2) AE (3) EF (4) GF

185.

The person sitting second to the left of Ais
A B QBTN BodSPS0S” Erdyydy 58
(1) F (2) G (3) B (4) E

AN AETAM 158
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In each of the questions from 186 to 200, a question is followed by two statements | and 11. Give
your answer as

(1), if the statement | alone can give the answer to the question;

(2), if the statement 11 alone can give the answer to the question;

(3), if statements | and Il together only can give the answer to the question;

(4), if statements | and Il together are also not sufficient to answer the question and additional
information is needed.

186 5008 200 5% Ko BB BHSEr, w8 (B S Tod BIST e |, Il assaron,
B5S50 | 63 o BH% Sirrsints a5g0nd (1) o

B850 1l 63 © B SErTIWIHONS (2) ©d;

©SES0 1, I 080 30808 808083 & HHH d5reSerdnd (3) v,

©SS50 1, 11 00 Bodr S8, R0F08 SIrardtnod Sy, & HHH 2are0aBBHd ITOR
(4) ©Q; o ddrerdsn m dc08.

186. Isthe quadrilateral PQRS cyclic?
W80 PQRS 58050552
() QR=QS
(1) |QPS+|QRS=180°

187. What is the cost of a chair?
() The cost of 2 chairs and 4 tables is Rs. 12,600
(I1) The cost of 3 chairs and 6 tables is Rs. 18,900

0.8 50y p0B0s?
(1) 2 %8ye0 $o00s0 4 Bewd) pdko & 12,600
(1) 3 Sdyen Hodasn 6 8333@’@) 28 . 18,900

188. Ismaprime?
()  mleaves remainder 1 when divided by 4.
(I1) m leaves remainder 6 when divided by 30.

M 2.8 ©F°S Jogrg?
() md 43 graosm $T) 30 1.
(1) mQ 303 eraowsm $3y 350 6.

189. For real numbers a and b, what is the value of 8a —5b?
QN dopgen a, b & 8a—5bdend Dog?

(h ab=#0
(1) a2+b°=0

AN AETR O w8
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2 2

) a
190. What is the value of —2+—2?
b ¢

2 .2
a—+b— DN Dos?
G

2
0 [%ﬂj - 80

C
(I a=3c

191. What is the area of the rectangle?
() The perimeter of the rectangle is 14 units.
(I1) The length of its diagonal is 5 units.

& BYBHERY FTogHod?

() o &EBHERY otn Fod 14 aSorden.
oR >8] ™

(n == DEFo FEY O Bardw.

192. If P, Aand B are three distinct points on a circle, then what is | APB?

() AB s adiameter of the circle.
(I1) The sum of the angles of APAB is 180°.

P,A Ben eg Ssdo A Boekd REARS)) HoLHBS, ©Hvd |APB do&?
() & 508 ABeg argdo
(1) APAB &° §'sore> 3080 180°.

193. What is the area of the rectangle ABCD?
() Eisthe mid-point of AB.
(I1) The area of A CDE is 60 square units.

&g S0 ABCD 3T egR00?
() ABS E %655 D0os)).
(I1) A CDE &g I7ego 60 $SE89 o805en.

194. Isthe positive integer n, odd?
() nisthe square of a composite number.
(I1) nisthe square root of a composite number.

ST ossn N, BOdogrg?
() neg dodsng dopg R g
(1) Nnes Socsng dopg BwE), SPdoresn.

AN AMATR 58



195.

R-5 Booklet Code | BB

If the positive real numbers a, b, ¢, d are in a geometric progression, then what is its common
ratio?
S8 FHIdomgen @, b, ¢, des HERS® ¢od, @dY o Drdordo Jod?
ad ac
0) = =

—=1 i —=2
bc n bd °

196.

What is the median of a set S consisting of 6 positive integers?
() The difference between the smallest and the largest number of S is 40.
(I1) The arithmetic mean of the elements of S is 15.

6 QS?6:Q)'°O;’OS"’Q)€53 EOAS D& So?mézr B0 gH SS9 A&
(1) S&°D 8AG 00w 10y dompge Hody He 25520 40.
(1) S RBng) Sorosre wostEggssn 15.

197.

If the perimeter of a right angled AABC having BC as its hypotenuse is 3+ 3+/3 units, then
what is its area?

() Side AC #side AB.

(I ZABC=30°.

BC g50om Ko 2.8 woaso Bzbadon ABC &g Hinsod 3+3\/§0533°K)éog ©0NS,
T ST Dod?

() eHesdoo AC # ghesdoo AB.

(I «£ABC=30°.
198. When x is a positive integer, is the GCD of 150 and x a prime number?
() xisaprime number. (I x> 150.
X8 éé@”%ﬁoéo 00008, 150 508w X o R0, A.3.e7. w8 RIS dopg ©HS0m°?
() X8 @S Sopg. (I x> 150.
199. What is the surface area of the cuboid S?

() The dimensions of one face of the cuboid S are 2 and 3.
(I1) Area of a face of the cuboid S is 9 sg. units.

éﬁgq“w:ézéw S Rw¥), &HoSL ITO0 Jos?
() éﬁgjqﬁaéo S Bwg), &8 Sopo Foden 2 Hodakw 3.
(1 éfsg)q“wéo S Sog) 2.8 Sopn ITwgo 9 BNoSren.

200.

If x is a positive integer, is x divisible by 48?

() xisdivisible by 8.

(I1) xisdivisible by 6.

X 2.8 $Sgraogo @ond, 48 BE X errAoHdoson?
() 83 X grhodaadosod.

(I 638 X erhodadosod.

000aada
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